IN THIS CHAPTER YOU WILL LEARN:

» The definition of economics and the features of the
economic perspective.

The role of economic theory in economics.

The distinction between microeconomics and
macroeconomics.

The categories of scarce resources and the nature
of the economizing problem.

About production possibilities analysis, increasing
opportunity costs, and economic growth.

Limits, Alternatives, and Choices

(An appendix on understanding graphs follows this chapter. If you need a quick review of this
mathematical tool, you might benefit by reading the appendix first.) People’s wants are numerous
and varied. Biologically, people need bnly air, water, food, clothing, and shelter. But in modern society
people also desire goods and services that provide a more comfortable or affluent standard of living.
We want bottled water, soft drinks, and fruit juices, not just water from the creek. We want salads,
burgers, and pizzas, not just berries and nuts. We want jeans, suits, and coats, not just woven reeds.
We want apartments, condominiums, or houses, not just mud huts. And, as the saying goes, “that is
not the half of it.” We also want DVD players, Internet service, education, homeland security, cell
phones, health care, and much more.

Fortunately, society possesses productive resources, such as labor and managerial talent, tools and
machinery, and land and mineral deposits. These resources, employed in the economic system
(or simply the economy), help us produce goods and services that satisfy many of our economic
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of scarcity.
Origin of the term
“Economics”

The Economic Perspective

Economists view things from a unique perspective. This
economic perspective, or economic way of thinking, has
several critical and closely interrelated features.

Scarcity and Choice

From our definition of economics, we can easily see why
economists view the world through the lens of scarcity.
Scarce economic resources mean limited goods and ser-

CONSIDERTHIS ...

Free for All?

Free products
are seemingly ev-
erywhere. Sellers
offer free soft-
ware, free cell
phones, and free
checking ac-
counts. Dentists
give out free toothbrushes. At state visitor centers, there are
free brochures and. maps.

Does the presence of so many free products contradict the
economist’s assertion “There is no free lunch”’? No! Resources
are used to produce each of these products, and because those
resources have alternative uses, society gives up something
else to get the “free” good. YVhere resources are used to pro-
duce goods or services, there is no free lunch.

So why are these goods offered for free! In a word: market-
ing! Firms sometimes offer free products to entice people to try
them, hoping they will then purchase those goods later. The free
software may eventually entice you to buy the producer’s up-
graded software. In other instances, the free brochures contain
advertising for shops and restaurants, and that free e-mail pro-
gram is filled with ads. In still other cases, the product is free
only in conjunction with a larger purchase. To get the free bottle
of soda, you must buy the large pizza. To get the free cell phone,
you need to sign up fora year's worth of cell phone service.

So “free” products may or may not be truly free to indi-
viduals.They are never: free to society.

wants. But the blunt reality is that our economic wants far exceed the productive ca-
pacity of our scarce (limited) resources. We are forced to make choices. This unyielding
+ruth underlies the definition of economics, which is the social science concerned with
how individuals, institutions, and society make optimal (best) choices under conditions

vices. Scarcity restricts options and demands choices.
Because we “can’t have it all,” we must decide what we will
have and what we must forgo.

At the core of economics is the idea that “there is no
free lunch.” You may be treated to lunch, making it “free”
from your perspective, but someone bears a cost—ultimately,
society. Scarce inputs of land, equipment, farm labor, the
labor of cooks and waiters, and managerial talent are re-
quired. Because society could have used these resources to
produce something else, it sacrifices those other goods and
services in making the lunch available. Economists call such
sacrifices opportunity costs: To obtain more of one thing,
society forgoes the opportunity of getting the next best
thing. That sacrifice is the opportunity cost of the choice.

Purposeful Behavior
FEconomics assumes that human behavior reflects “rational
self-interest.” Individuals look for and pursue opportuni-
ties to increase their utility—the pleasure,
happiness, or satisfaction obtained from
consuming a good or service. They allocate
their time, energy, and money to maximize
s their satisfaction. Because they weigh costs
and benefits, their economic decisions are
“purposeful” or “rational,” not “random”
or “chaotic.”

Consumers are purposeful in deciding what goods and
services to buy. Business firms are purposeful in deciding
what products to produce and how to produce them. Gov-
ernment entities are purposeful in deciding what public ser-
vices to provide and how to finance them.

“Pyrposeful behavior” does not assume that people
and institations are immune from faulty logic and there-
fore are perfect decision makers. They sometimes make
mistakes. Nor does it mean that people’s decisions are un-
affected by emotion or the decisions of those around them.
“Purposeful behavior” simply means that people make
decisions with some desired outcome in mind.

Rational self-interest is not the same as selfishness. In
the economy, increasing one’s own wage, rent, interest, ot
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“wants! Also, people make personal sacrifices to others.

heY . contribute time and money to charities because they
e ‘:pleasure from doing so. Parents help pay for their

Fast-Food
Lines

. The economic
perspective is
useful in analyz-
iing all ‘sonts ‘of
behaviors. Con-
sider an every-
day example: the
behavior of fast-
ymers enter the restaurant, they

ing from theishorterline (marginal benefit) as
e'cost ‘of moving from their present line (marginal

"'switchin‘g' tends to equalize line lengths. No'fur-
ment of customers between lines occurs once aII

and ithe! employee isia tramee)' NeVertheIess, at fhe tlme you

e your decision, you thought it was/optimal;
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' they arriye/at the counter.'in’ makmg their chmces, they.again
compare: marglnal costs and marginal | benefits in ‘attempting to
obtain the greatest personal satisfaction for their. .expenditure.
B - Economists believe that what is true for the behavior of
1 customers at fast-food restaurants'is true for economic behay-
iorin  general. Faced with an arfay of choices, consumers,
~ Workers, and businesses rationally‘compare: marglnal icosts and

'marginal benefits lin maklng decisions.

rmally requires identifying and satisfying somebody
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children’s education for the same reason. These self-
interested, but unselfish, acts help maximize the givers’ satis-
faction as much as any personal purchase of goods or
services. Self-interested behavior is simply behavior designed
to increase personal satisfaction, however it may be derived.

Marginal Analysis: Benefits
and Costs

The economic perspective focuses largely on marginal
analysis—comparisons of marginal benefits and marginal
costs, usually for decision making. To economists, “mar-
ginal” means “extra,” “additional,” or “a change in.” Most
choices or decisions involve changes in the status quo,
meaning the existing state of affairs.

Should you attend school for another year? Should
you study an extra hour for an exam? Should you supersize
your fries? Similarly, should a business expand or reduce
its output? Should government increase or decrease its
funding for a missile defense system?

Each option involves marginal benefits and, because of
scarce resources, marginal costs. In making choices rationally,
the decision maker must compare those two amounts. Ex-
ample: You and your fiancée are shopping for an engagement
ring. Should you buy a }-carat diamond, a $-carat diamond,
a %—carat diamond, a 1-carat diamond, or something even

larger? The marginal cost of a larger-size dia-
mond is the added expense beyond the cost
of the smaller-size diamond. The marginal
benefit is the perceived lifetime pleasure
(utility) from the larger-size stone. If the
marginal benefit of the larger diamond ex-
ceeds its marginal cost (and you can afford
it), buy the larger stone. But if the marginal
cost is more than the marginal benefit, buy the smaller dia-
mond instead, even if you can afford the larger stone!

In a world of scarcity, the decision to obtain the mar-
ginal benefit associated with some specific option always
includes the marginal cost of forgoing something else.
The money spent on the larger-size diamond means for-
going some other product. Opportunity costs are present
whenever a decision is made. (Key Question 3)

Marginal analysis

Theories, Principles, and Models

Like the physical and life sciences, as well as other social
sciences, economics relies on the scientific method. That
procedure consists of several elements:
The observation of real-world behavior and outcomes.
* Based on those observations, the formulation of a
possible explanation of cause and effect (hypothesis).
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* The testing of this explanation by comparing the
outcomes of specific events to the outcome predicted
by the hypothesis.

e The acceptance, rejection, or modification of the
hypothesis, based on these comparisons.

¢ The continued testing of the hypothesis against the
facts. As favorable results accumulate, the hypothesis
evolves into a theory. A very well-tested and widely
accepted theory is referred to as an econormic law or
an economic principle—a statement about eco-
nomic behavior or the economy that enables predic-
tion of the probable effects of certain actions.
Combinations of such laws or principles are incorpo-
rated into models, which are simplified representa-
tions of how something works, such as a market or
segment of the economy.

Economists develop theories of the behavior of indi-
viduals (consumers, workers) and institutions (businesses,
governments) engaged in the production, exchange, and
consumption of goods and services. Theories, principles,
and models are “purposeful simplifications.” The full
scope of economic reality itself is too complex and
bewildering to be understood as a whole. In developing
theories, principles, and models economists remove the
clutter and simplify.

Economic principles and models are highly useful in
analyzing economic behavior and understanding how
the economy operates. They are the tools for ascertain-
ing cause and effect (or action and outcome) within the
economic system. Good theories do a good job of ex-
plaining and predicting. They are supported by facts
concerning how individuals and institutions actually be-
have in producing, exchanging, and consuming goods
and services.

There are some other things you should know about
economic principles.

* Generalizations Economic principles are general-
izations relating to economic behavior or to the
economy itself. Economic principles are expressed as
the tendencies of typical or average consumers,
workers, or business firms. For example, economists
say that consumers buy more of a particular product
when its price falls. Economists recognize that some
consumers may increase their purchases by a large
amount, others by a small amount, and a few not
at all. This “price-quantity” principle, however,
holds for the typical consumer and for consumers as
a group.

* Other-Things-Equal Assumption In constructing
their theories, economists use the ceteris paribus or
other-things-equal assumption—the assumption

that factors other than those being considered do
not change. They assume that all variables except
those under immediate consideration are held con-
stant for a particular analysis. For example, consider
the relationship between the price of Pepsi and the
amount of it purchased. Assume that of all the fac-
tors that might influence the amount of
Pepsi purchased (for example, the price of
Pepsi, the price of Coca-Cola, and con-
sumer incomes and preferences), only the
price of Pepsi varies. This is helpful be-
cause the economist can then focus on
the “price of Pepsi—purchases of Pepsi”
relationship without being confused by
changes in other variables.
* Grapbical Expression Many economic models are
expressed graphically. Be sure to read the special
appendix at the end of this chapter as a review of

graphs.

Ceteris paribus

Macroeconomics and

Microeconomics

Economists develop economic principles and models at
two levels.

Macroeconomics

Macroeconomics examines either the economy as a
whole or its basic subdivisions or aggregates, such as the
government, household, and business sectors. An
aggregate is a collection of specific economic units treated
as if they were one unit. Therefore, we might lump together
the millions of consumers in the U.S. economy and treat
them as if they were one huge unit called “consumers.”

In using aggregates, macroeconomics seeks to obtain
an overview, or general outline, of the structure of the
economy and the relationships of its major aggregates.
Macroeconomics speaks of such economic measures as
total output, total employment, total income, aggregate
expenditures, and the general level of prices in analyzing
various economic problems. No or very little attention is
given to specific units making up the various aggregates.

Figuratively, macroeconomics looks at the beach, not
the pieces of sand, the rocks, and the shells.

Microeconomics

Microeconomics is the part of economics concerned with
individual units such as a person, a household, a firm, or an
industry. At this level of analysis, the economist observes
the details of an economic unit, or very small segment of
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¢ economy, under a figurative microscope. In microeco-

 nomics we look at decision making by individual customers,

arkers, households, and business firms. We measure the
rice of a specific product, the number of workers employed

 bya single firm, the revenue or income of a particular firm

or household, or the expenditures of a specific firm, gov-
ernment entity, or family. In microeconomics, we examine
the sand, rock, and shells, not the beach.

The macro-micro distinction does not mean that
economics is so highly compartmentalized that every
topic can be readily labeled as either macro or micro;
many topics and subdivisions of economics are rooted in
both. Example: While the problem of unemployment is
usually treated as a macroeconomic topic (because un-
employment relates to aggregate production), econo-
mists recognize that the decisions made by individual
workers on how long to search for jobs and the way spe-
cific labor markets encourage or impede hiring are also
critical in determining the unemployment rate. (Key
Question 5)

Positive and Normative Economics
Both macroeconomics and microeconomics contain ele-
ments of positive economics and normative economics.
Positive economics focuses on facts and cause-and-effect
relationships. It includes description, theory development,
and theory testing (theoretical economics). Positive eco-
nomics avoids value judgments, tries to establish scientific
statements about economic behavior, and deals with what
the economy is actually like. Such scientific-based analysis
is critical to good policy analysis.

Economic policy, on the other hand, involves nor-
mative economics, which incorporates value judgments
about what the economy should be like or what particular
policy actions should be recommended to achieve a desir-
able goal (policy economics). Normative economics looks
at the desirability of certain aspects of the economy. It
underlies expressions of support for particular economic
policies. )

Positive economics concerns what is, whereas norma-
tive economics embodies subjective feelings about what
ought to be. Examples: Positive statement: “The unemploy-
ment rate in France is higher than that in the United
States.” Normative statement: “France ought to undertake
policies to make its labor market more flexible to reduce
unemployment rates.” Whenever words such as “ought”
or “should” appear in a sentence, you are very likely en-
countering a normative statement.

Most of the disagreement among economists involves
normative, value-based policy questions. Of course, econ-
omists sometime disagree about which theories or models
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best represent the economy and its parts; but they agree
on a full range of economic principles. Most economic
controversy thus reflects differing opinions or value judg-
ments about what society should be like.

QUICK REVIEW [.1

¢ Economics examines how individuals, institutions, and
society make choices under conditions of scarcity.

* The economic perspective stresses (a) resource scarcity and
the necessity of making choices, (b) the assumption of
rational behavior, and () comparisons of marginal benefit
and marginal cost.

* Economists use the scientific method to establish economic
theories—cause-effect generalizations about the economic
behavior of individuals and institutions.

* Macroeconomics examines the economy as a whole;
microeconomics focuses on specific units of the economy.

¢ Positive economics deals with factual statements (“what is”);
normative economics involves value judgments (“what ought
to be”).

Individuals’ Economizing
Problem

A close examination of the economizing problem—the
need to make choices because economic wants exceed
economic means—will enhance your understanding of
economic models and the difference between microeco-
nomic and macroeconomic analysis. Let’s first build a
microeconomic mode] of the economizing problem faced
by an individual.

Limited Income

We all have a finite amount of income, even the wealthiest
among us. Even Donald Trump must decide how to spend
his money! And the majority of us have much more limited
means. Our income comes to us in the form of wages, in-
terest, rent, and profit, although we may also receive
money from government programs or family members. As
Global Perspective 1.1 shows, the average income of
Americans in 2004 was $41,400. In the poorest nations, it
was less than $500.

Unlimited Wants

For better or worse, most people have virtually unlimited
wants. We desire various goods and services that provide
utility. Our wants extend over a wide range of products,
from necessities (for example, food, shelter, and clothing) to
luxuries (for example, perfumes, yachts, and sports cars).
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¢, "#) GLOBAL PERSPECTIVE I.I

Average Income, Selected Nations

Average income (total income/population) and therefore typi-
cal individual budget constraints vary greatly among nations.

Per Capita Income, 2004
(U.S. dollars, based on exchange rates)

Country

United Sntes 41,400
Japan 37,180

South Korea 13.980
Mexico 6,770

ngena

Source: World Bank, www.worldbank.org.

Some wants such as basic food, clothing, and shelter have
biological roots. Other wants, for example, specific kinds
of food, clothing, and shelter, arise from the conventions
and customs of society.

Opver time, as new products are introduced, economic
wants tend to change and multiply. Only recently have
people wanted MP3 players, Internet service, digital cam-
eras, or camera phones because those products did not ex-
ist a few decades ago. Also, the satisfaction of certain wants
may trigger others: the acquisition of a Ford Focus or a
Honda Civic has been known to whet the appetite for a
Lexus or a Mercedes.

Services, as well as goods, satisfy our wants. Car repair
work, the removal of an inflamed appendix, legal and
accounting advice, and haircuts all satisfy human wants.
Actually, we buy many goods, such as automobiles and
washing machines, for the services they render. The dif-
ferences between goods and services are often smaller than
they appear to be.

For most people, the desires for goods and services
cannot be fully satisfied. Bill Gates may have all that he
wants for himself, but his massive charitable giving

suggests that he keenly wants better health care for the
world’s poor. Our desires for a particular good or service
can be satisfied; over a short period of time we can surely
get enough toothpaste or pasta. And one appendectomy is
plenty. But our desire for goods and services in general
seem to be another story.

Because we have only limited income (usually through
our work) but seemingly insatiable wants, it is in our self-
interest to economize: to pick and choose goods and ser-
vices that create maximum utility.

A Budget Line

We can clarify the economizing problem facing consum-
ers by visualizing a budget line (or, more technically, a
budget constraint). It is a schedule or curve that shows vari-
ous combinations of two products a consumer can pur-
chase with a specific money income. Although we assume
two products, the analysis generalizes to the full range of
products available to an individual consumer.

To understand the idea of a budget line, suppose
that you received a Barnes & Noble (or Borders) gift
card as a birthday present. The $120 card is soon to
expire. You take the card to the store and confine your
purchase decisions to two alternatives: DVDs and pa-
perback books. DVDs are $20 each and paperback books
are $10 each. Your purchase options are shown in the
table in Figure 1.1.

At one extreme, you might spend all of your $120 “in-
come” on 6 DVDs at $20 each and have nothing left to
spend on books. Or, by giving up 2 DVDs and thereby
gaining $40, you can have 4 DVDs at $20 each and 4 books
at $10 each. And so on to the other extreme, at which you
could buy 12 books at $10 each, spending your entire gift
card on books with nothing left to spend on DVDs.

The graph in Figure 1.1 shows the budget line. Note
that the graph is not restricted to whole units of DVDs
and books as is the table. Every point on the graph repre-
sents a possible combination of DVDs and books, includ-
ing fractional quantities. The slope of the graphed budget
line measures the ratio of the price of books (P;) to
the price of DVDs (P,,); more precisely, the slope is
Py/Pyp,=$ — 10/$ + 20 = -—%, or —.5. So you must
forgo 1 DVD (measured on the vertical axis) to buy 2
books (measured on the horizontal axis). This yields a
slope of —J or —.5.

The budget line illustrates several ideas.

Attainable and Unattainable Combinations
All the combinations of DVDs and books on or inside the
budget line are attainable from the $120 of money income.
You can afford to buy, for example, 3 DVDs at $20 each
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FIGURE I.l A consumer’s budget line. The budget line (or budget constraint) shows all the combinations of any two products that can be

purchased, given the prices of the products and the consumer’s money income.

6 0

5 2 ($120 = $100 + $20)
4 4 (8120 = $80 + $40)
3 6 ($120 = $60 + $60)
2 8 ($120 = $40 + $80)
[ 10 ($120 = $20 + $100)
0 12 ($120 = $0 + $120)

and 6 books at $10 each. You also can obviously afford to
buy 2 DVDs and 5 books, if so desired, and not use up the
value on the gift card. But to achieve maximum utility you
will want to spend the full $120.

In contrast, all combinations beyond the budget line
are unattainable. The $120 limit simply does not allow you
to purchase, for example, S DVDs at $20 each and 5 books
at $10 each. That $150 expenditure would clearly exceed
the $120 limit. In Figure 1.1 the attainable combinations
are on and within the budget line; the unattainable combi-
nations are beyond the budget line.

Tradeoffs and Opportunity Costs The bud-
get line in Figure 1.1 illustrates the idea of tradeoffs aris-
ing from limited income. To obtain more DVDs, you have
to give up some books. For example, to ob-
tain the first DVD, you trade off 2 books.
So the opportunity cost of the first DVD is
2 books. To obtain the second DVD the
opportunity cost is also 2 books. The
oLs straight-line budget constraint, with its
constant slope, indicates constant opportu-
nity cost. That is, the opportunity cost of
1 extra DVD remains the same (= 2 books) as more DVDs
are purchased. And, in reverse, the opportunity cost of
1 extra book does not change (= ; DVD) as more books
are bought.

Opportunity costs

Choice Limited income forces people to choose what to
buy and what to forgo to fulfill wants. You will select the
combination of DVDs and paperback books that you think
is “best.” That is, you will evaluate your marginal benefits
and marginal costs (here, product price) to make choices
that maximize your satisfaction. Other people, with the same
$120 gift card, would undoubtedly make different choices.

" ($120 = $120 + $0)

Income = $120

- =6
2 Paya = $20-

Unattainable

Quantity of DVDs
o

fncome = $I20 W,

0 2 4 6 8 10 12 14

Did G'Ldte's',Win‘frey,
~and Rodriguez Make
 ‘Bad Choices? '

| Opporfumty costs| come into
| play. in decisions well beyond
' simple buying: decisions: Con-
_sider the dijfferent choices
Peopfe makevwn:h respect to
_"!coILeg } Gell ge graduates

NOSt.« apable studeht:‘ “Go fo collegeJ
na d'eg_ree, is very soundvadwce

And ‘RodrlgUez knew 'thafz profem nal athletes have short
careers. Therefore, going to eollege di after high school
would'have taken away 4 years of his peak earning potential.

So Gates, Winfrey, and Rodrlguez understood opportunity!
costs and made their choices accordingly: The size of opportu-
nity costs greatly matters in making |nd|v1dual deqsnons

"‘Wmfrey eventdally ‘went back to school and earned a degree from’
Tennessee State University: whenishe was in her thirties. :
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Income Changes The location of the budget line

varies with money income. An increase in money income

shifts the budget line to the right; a decrease in money

income shifts it to the left. To verify this, recalculate the

table in Figure 1.1, assuming the card value (income) is

(2) $240 and (b) $60, and plot the new bud-

get lines in the graph. No wonder people

like to have more income: That shifts their

budget lines outward and enables them to

buy more goods and services. But even

with more income, people will still face

wlli spending tradeoffs, choices, and opportu-
nity costs. (Key Question 7)

Budget lines

QUICK REVIEW 1.2

e Because wants exceed incomes, individuals face an
economizing problem; they must decide what to buy and
what to forgo.

* A budget line (budget constraint) shows the various
combinations of two goods that a consumer can purchase
with a specific money income.

* Straight-line budget constraints imply constant opportunity
costs associated with obtaining more of either of the two
goods.

Society’s Economizing Problem

Society must also make choices under conditions of scar-
city. It, too, faces an economizing problem. Should it
devote more of its limited resources to the criminal justice
system (police, courts, and prisons) or to education
(teachers, books, and schools)? If it decides to devote more
resources to both, what other goods and services does it
forgo? Health care? Energy development?

Scarce Resources

Society has limited or scarce economic resources, mean-
ing all natural, human, and manufactured resources that
go into the production of goods and services. This in-
cludes the entire set of factory and farm buildings and all
the equipment, tools, and machinery used to produce
manufactured goods and agricultural products; all trans-
portation and communication facilities; all types of labor;
and land and mineral resources.

Resource Categories
Economists classify economic resources into four general
categories.

Land Land means much more to the economist than it
does to most people. To the economist land includes all
natural resources (“gifts of nature”) used in the production
process, such as arable land, forests, mineral and oil de-
posits, and water resources.

Labor The resource labor consists of the physical and
mental talents of individuals used in producing goods and
services. The services of a logger, retail clerk, machinist,
teacher, professional football player, and nuclear physicist
all fall under the general heading “labor.”

Capital For economists, capital (or capital goods) in-
cludes all manufactured aids used in producing consumer
goods and services. Included are all factory, storage, trans-
portation, and distribution facilities, as well as tools and
machinery. Economists refer to the purchase of capital
goods as investment.

Capital goods differ from consumer goods because
consumer goods satisfy wants directly, whereas capital
goods do so indirectly by aiding the production of con-
sumer goods. Note that the term “capital” as used by
economists refers not to money but to tools, machinery,
and other productive equipment. Because money produces
nothing, economists do not include it as an economic re-
source. Money (or money capital or financial capital) is
simply a means for purchasing capital goods.

Entrepreneurial Ability Finally, there is the spe-
cial human resource, distinct from labor, called entrepre-
neurial ability. The entrepreneur performs several
functions:

* The entrepreneur takes the initiative in combining
the resources of land, labor, and capital to produce a
good or a service. Both a sparkplug and a catalyst,
the entrepreneur is the driving force behind produc-
tion and the agent who combines the other resour-
ces in what is hoped will be a successful business
venture.

¢ The entrepreneur makes the strategic business
decisions that set the course of an enterprise.

¢ The entrepreneur is an innovator. He or she com-
mercializes new products, new production techniques,
or even new forms of business organization.

* The entrepreneur is a risk bearer. The entrepreneur
bas no guarantee of profit. The reward for the entre-
preneur’s time, efforts, and abilities may be profits or
losses. The entrepreneur risks not only his or her
invested funds but those of associates and stockhold-
ers as well.
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" Because land, labor, capital, and entrepreneurial abil-
are combined to produce goods and services, they are

g :called the factors of production, or simply “inputs.”

' Production Possibilities Model

Society uses its scarce resources to produce goods and
services. The alternatives and choices it faces can best be

- anderstood through a macroeconomic model of produc-

tion possibilities. To keep things simple, let’s initially
assume:
o Full employment The economy is employing all its
available resources.
o Fixed resources The quantity and quality of the fac-
tors of production are fixed.
o Fixed technology The state of technology (the meth-
ods used to produce output) is constant.
¢ Two goods The economy is producing only two
goods: pizzas and industrial robots. Pizzas symbolize
consumer goods, products that satisfy our wants di-
rectly; industrial robots (for example, the kind used
to weld automobile frames) symbolize capital goods,
products that satisfy our wants indirectly by making
possible more efficient production of consumer
goods.

Production Possibilities Table

A production possibilities table lists the different combi-
nations of two products that can be produced with a spe-
cific set of resources, assuming full employment. Table
1.1 presents a simple, hypothetical economy that is pro-
ducing pizzas and industrial robots; the data are, of
course, hypothetical. At alternative A, this economy
would be devoting all its available resources to the pro-
duction of industrial robots (capital goods); at alterna-
tive E, all resources would go to pizza production
(consumer goods). Those alternatives are unrealistic ex-
tremes; an economy typically produces both capital
goods and consumer goods, as in B, C, and D. As we
move from alternative A to E, we increase the produc-
tion of pizzas at the expense of the production of indus-
trial robots.

TABLE 1.1 Production Possibilities of Pizzas and Industrial
Robots

Plzzas (in hundred thousands) 0 | 2 3 4
Robots (in thousands) 10 9 7 4 0
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Because consumer goods satisfy our wants directly,
any movement toward E looks tempting. In producing
more pizzas, society increases the current satisfaction of
its wants. But there is a cost: More pizzas means fewer
industrial robots. This shift of resources to consumer
goods catches up with society over time because the
stock of capital goods does not expand at the current
rate, with the result that some potential for greater fu-
ture production is lost. By moving toward alternative E,
society chooses “more now” at the expense of “much
more later.”

By moving toward A, society chooses to forgo current
consumption, thereby freeing up resources that can be
used to increase the production of capital goods. By build-
ing up its stock of capital this way, society will have greater
future production and, therefore, greater future consump-
tion. By moving toward A, society is choosing “more later”
at the cost of “less now.”

Generalization: At any point in time, a fully employed
economy must sacrifice some of one good to obtain more
of another good. Scarce resources prohibit such an econ-
omy from having more of both goods. Society must choose
among alternatives. There is no such thing as a free pizza,
or a free industrial robot.

Production Possibilities Curve
The data presented in a production possibilities table are
shown graphically as a production possibilities curve.
Such a curve displays the different combinations of goods
and services that society can produce in
a fully employed economy, assuming a
fixed availability of supplies of resources
and constant technology. We arbitrarily
represent the economy’s output of capital
goods (here, industrial robots) on the
vertical axis and the output of consumer
goods (here, pizzas) on the horizontal axis,
as shown in Figure 1.2 (Key Graph).
Each point on the production possibilities curve rep-
resents some maximum output of the two products. The
curve is a “constraint” because it shows the limit of at-
tainable outputs. Points on the curve are attainable as
long as the economy uses all its available resources.
Points lying inside the curve are also attainable, but they
reflect less total output and therefore are not as desirable
as points on the curve. Points inside the curve imply that
the economy could have more of both industrial robots
and pizzas if it achieved full employment of its resources.
Points lying beyond the production possibilities curve,
like W, would represent a greater output than the output
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FIGURE 1.2 The production possibilities curve. Each point on the
production passibilities curve represents some maximum combination of two products that
can be produced if resources are fully employed.When an economy is operating on the
curve, more industrial robots means less pizzas, and vice versa. Limited resources and a fixed
technology make any combination of industrial robots and pizzas lying outside the curve
Unattainable (such as at W) unatrainable. Points inside the curve are attainable, but they indicate that full
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employment is not being realized.

QUICKQUIZ 1.2

1. Production possibilities curve ABCDE is bowed out from the
origin because:
a. the marginal benefit of pizzas declines as more pizzas are
consumed.
b. the curve gets steeper as we move from E to 4.
c. it reflects the law of increasing opportunity costs.
d. resources are scarce.
2. The marginal opportunity cost of the second unit of pizza is:
a. 2 units of robots.
b. 3 units of robots.
c. 7 units of robots.
d. 9 units of robots.

at any point on the curve. Such points, however, are un-
attainable with the current availability of resources and
technology.

Law of Increasing
Opportunity Cost

Figure 1.2 clearly shows that more pizzas means fewer in-
dustrial robots. The number of units of industrial robots
that must be given up to obtain another unit of pizzas, of
course, is the opportunity cost of that unit of pizzas.

In moving from alternative A to alternative B in Table
1.1, the cost of 1 additional unit of pizzas is 1 fewer unit of
industrial robots. But when additional units are
considered—B to C, C to D, and D to E—an important
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3. The total opportunity cost of 7 units of robots is:
a. 1 unit of pizza.
b. 2 units of pizza.
¢. 3 units of pizza.
d. 4 units of pizza.

4. All points on this production possibilities curve necessarily
represent:

society’s optimal choice.

. less than full use of resources.

unattainable levels of output.

. full employment.
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economic principle is revealed: For society, the opportu-
nity cost of each additional unit of pizzas is greater than
the opportunity cost of the preceding one. When we move
from A to B, just 1 unit of industrial robots is sacrificed for
1 more unit of pizzas; but in going from B to C we sacri-
fice 2 additional units of industrial robots for 1 more unit
of pizzas; then 3 more of industrial robots for 1 more of
pizzas; and finally 4 for 1. Conversely, confirm that as we
move from E to A, the cost of an additional unit of indus-
trial robots (on average) is 4, 1, 3, and 1 unit of pizzas, re-
spectively, for the four successive moves.

Our example illustrates the law of increasing oppor-
tunity costs. As the production of a particular good in-
creases, the opportunity cost of producing an additional
unit rises.
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Shape of the Curve The law of increasing oppor-
tunity costs is reflected in the shape of the production pos-
sibilities curve: The curve is bowed out from the origin of
the graph. Figure 1.2 shows that when the economy moves
from A to E, it must give up successively larger amounts of
industrial robots (1, 2, 3, and 4) to acquire equal incre-
ments of pizzas (1, 1, 1, and 1). This is shown in the slope
of the production possibilities curve, which becomes
steeper as we move from 4 to E.

Economic Rationale The economic rationale for
the law of increasing opportunity costs is that economic
resources are not completely adaptable to alternative uses.
Many resources are better at producing one type of good
than at producing others. Some land is highly suited to
growing the ingredients necessary for pizza production,
but as pizza production expands society has to start using
land that is less bountiful for farming. Other land is rich in
mineral deposits and therefore well-suited to producing
the materials needed to make industrial robots. As society
steps up the production of robots, it must use land that is
less and less adaptable to making their components.

If we start at 4 and move to B in Figure 1.2, we can
shift resources whose productivity is relatively high in
pizza production and low in industrial robots. But as we
move from B to C, C to D, and so on, re-
sources highly productive of pizzas become
increasingly scarce. To get more pizzas, re-
sources whose productivity in industrial
robots is relatively great will be needed. In-
creasingly more of such resources, and

wWl.2 . . .
Producton | D€DCe greater sacrifices of industrial robots,
possibilies ~ Will be needed to achieve each 1-unit in-

crease in pizzas. This lack of perfect flexi-
bility, or interchangeability, on the part of resources is the
cause of increasing opportunity costs for society. (Key
Question 10)

Optimal Allocation

Of all the attainable combinations of pizzas and industrial
robots on the curve in Figure 1.2, which is optimal (best)?
That is, what specific quantities of resources should be
allocated to pizzas and what specific quantities should be
allocated to industrial robots in order to maximize
satisfaction?

Recall that economic decisions center on comparisons
of marginal benefit (MB) and marginal cost (MC). Any
economic activity should be expanded as long as marginal
benefit exceeds marginal cost and should be reduced if
marginal cost exceeds marginal benefit. The optimal
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amount of the activity occurs where MB = MC. Society
needs to make a similar assessment about its production
decision.

Consider pizzas. We already know from the law of
increasing opportunity costs that the marginal costs of
additional units of pizzas will rise as more units are pro-
duced. We also know that we obtain extra or marginal
benefits from additional units of pizzas. However, al-
though economic wants in the aggregate are insatiable,
the assumption that successive units of a particular prod-
uct yield fewer additional benefits to society than prior
units is reasonable.

The optimal quantity of pizza production is indicated
by point e at the intersection of the MB and MC curves:
200,000 units in Figure 1.3. Why is this amount the opti-
mal quantity? If only 100,000 units of pizzas were pro-
duced, the marginal benefit of an extra unit of them
(point 4) would exceed its marginal cost (point 5). In
money terms, MB is $15, while MC is only $5. When so-
ciety gains something worth $15 at a marginal cost of only
$5, it is better off. In Figure 1.3, net gains can continue to
be realized until pizza-product production has been in-
creased to 200,000.

In contrast, the production of 300,000 units of pizzas
is excessive. There the MC of an added unitis $15 (point )
and its MB is only $5 (point d). This means that 1 unit of
pizzas is worth only $5 to society but costs it $15 to ob-
tain. This is a losing proposition for society!

FIGURE 1.3 Optimal output: MB = MC. Achieving the
optimal output requires the expansion of a good’s output until its marginal
benefit (MB) and marginal cost (MC) are equal. No resources beyond that
point should be allocated to the product. Here, optimal output occurs at
point e, where 200,000 units of pizzas are produced.

$15

Marginal benefit and
marginal cost

2 3
Quantity of pizza
(hundred thousands)
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So resources are being efficiently allocated to any
product when the marginal benefit and marginal cost of its
output are equal (MB = MC). Suppose that by applying
the same analysis to industrial robots, we find that the op-
timal (MB = MC) output of robots is 7000. This would

CONSIDERTHIS ...

The
Economics
of War
Production pos-
" sibilities analysis
is helpful in as-
sessing the costs
and’ benefits of
waging ‘the broad
" war on terror-
ism, lncludlng ‘the wars in Afghanistan and Irag.’An October 2605
estimate places:the total costiof these efforts, including rebuild-
ing expenses, at $350 billion.

If we! categorize all U'S. production as eithen “defense
goods” or “civilian ‘goods,” we can measure them on the axes
of a productlon possibilities diagram such as that shown lin
Figure |.2.The opportunity cost of using/more resources for
defense goods is the civilian goods sacrificed. In a fully. em-
ployed economy, more defense goods are achieved at'the op-
portunity cost of fewer civiliah goods—health care, education,
pollution ‘control, personal computers,’houses, and so on.The
cost of war and defense is the other. goods forgone. The ben-
efits are numerous' and diverse but clearly include the gains
from protecting against future loss of American lives, assets,
income, and ‘well-being.

Society must-assess the marginal benefit (MB) andmarginal
cost (MC) of additional defense goods to determine their op-
timal amounts—where to locate on the defense goods—cwnllan
goods) production possibilities curye: Although estimating mar-
ginal benefits and marginal costs is an imprecise art, the MB-MC
framework is a useful way of approaching choices. An optimal
allocation of resources requires that society expand produc-
tion of defensegoods until MB = MC.

The events of! September 11,2001, and the future threats
they foreshadowed increased the marginal benefits of defense
goods; as perceived’ by Americans. If we [abel the horizontal
axis in Figure 1.3 “defense goods"and draw in‘a rightward shift
ofithe MB curve,you will see that the optimal quantity of de-
fense goods rises. In view. of the concerns relating to Septem-
ber: 1|, the United States allocated more of ifS resources to
defense. But the MB-MC analysis also reminds us we can spend
too much on defense, as'well as too ! little:The/United States
should not expand defense goods beyond the point where:

'MB = MC. If it does, it will be sacrificing civilian goods of
greater value than the defensegoods obtained:

mean that alternative C (200,000 units of pizzas and 7000
units of industrial robots) on the production possibilities
curve in Figure 1.2 would be optimal for this economy.

(Key Question 11)

QUICK REVIEW 1.3

» Economists categorize economic resources as land, labor,
capital, and entrepreneurial ability.

* The production possibilities curve illustrates several ideas:
(a) scarcity of resources is implied by the area of unattainable
combinations of output lying outside the production
possibilities curve; (b) choice among outputs is reflected in
the variety of attainable combinations of goods lying along
the curve; (c) opportunity cost is illustrated by the downward
slope of the curve; (d) the law of increasing opportunity costs
is implied by the bowed-outward shape of the curve.

¢ A comparison of marginal benefits and marginal costs is
needed to determine the best or optimal output mix on a
production possibilities curve.

Unemployment, Growth,

and the Future

In the depths of the Great Depression of the 1930s, one-
quarter of U.S. workers were unemployed and one-third
of U.S. production capacity was idle. The United States
has suffered a number of considerably milder downturns
since then, the latest occurring in 2001. In that year total
production fell one-half a percentage point and unem-
ployment increased by about 2 million workers.

Almost all nations have experienced widespread un-
employment and unused production capacity from busi-
ness downturns at one time or another. Since 1995, for
example, several nations—including Argentina, Japan,
Mexico, Germany, and South Korea—have had economic
downturns and unemployment.

How do these realities relate to the production possi-
bilities model? Our analysis and conclusions change if we
relax the assumption that all available resources are fully
employed. The five alternatives in Table 1.1 represent
maximum outputs; they illustrate the combinations of piz-
zas and industrial robots that can be produced when the
economy is operating at full employment. With unem-
ployment; this economy would produce less than each al-
ternative shown in the table.

Graphically, we represent situations of unemployment
by points inside the original production possibilities curve
(reproduced here in Figure 1.4). Point U is one such point.
Here the economy is falling short of the various maximum
combinations of pizzas and industrial robots represented




FIGURE 1.4 Unemployment and the production
possibilities curve. Any point inside the production possibilities
curve, such as U, represents unemployment or a failure to achieve full
employment. The arrows indicate that by realizing full employment, the
economy could operate on the curve. This means it could produce
more of one or both products than it is producing at point U.

Robots (thousands)

0 1 2 3 4 5 6 7 8 9

Pizzas (hundred thousands)
by the points on the production possibilities curve. The
arrows in Figure 1.4 indicate three possible paths back to

full employment. A move toward full employment would
yield a greater output of one or both products.

A Growing Economy

When we drop the assumptions that the quantity and
quality of resources and technology are fixed, the produc-
tion possibilities curve shifts positions and the potential
maximum output of the economy changes.

Increases in Resource Supplies Although re-
source supplies are fixed at any specific moment, they
change over time. For example, a nation’s growing
population brings about increases in the supplies of labor
and entrepreneurial ability. Also, labor quality usually im-
proves over time. Historically, the economy’s stock of capi-
tal has increased at a significant, though unsteady, rate. And
although some of our energy and mineral resources are be-
ing depleted, new sources are also being discovered. The
development of irrigation programs, for example, adds to
the supply of arable land.

The net result of these increased supplies of the fac-
tors of production is the ability to produce more of both
consumer goods and capital goods. Thus 20 years from
now, the production possibilities may supersede those
shown in Table 1.1. The new production possibilities
might look like those in the table in Figure 1.5. The
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greater abundance of resources will result in a greater po-
tential output of one or both products at each alternative.
The economy will have achieved economic growth in the
form of expanded potential output. Thus, when an in-
crease in the quantity or quality of resources occurs, the
production possibilities curve shifts outward and to the
right, as illustrated by the move from the inner curve to
curve A'B'C'D'E' in Figure 1.5. This sort of shift repre-
sents growth of economic capacity, which, when used,
means economic growth: a larger total output.

Advances in Technology An advancing technol-
ogy brings both new and better goods and improved ways
of producing them. For now, let’s think of technological
advance as being only improvements in the methods of
production, for example, the introduction of computer-
ized systems to manage inventories and schedule produc-
tion. These advances alter our previous discussion of the
economizing problem by allowing society to produce
more goods with available resources. As with increases in

FIGURE 1.5 Economic growth and the production
possibilities curve. The increase in supplies of resources,improvements in
resource quality, and technological advances that occur in a dynamic economy move
the production possibilities curve outward and to the right, allowing the economy to
have larger quantities of both types of goods.
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Because they affect us so personally, we often have
difficulty thinking accurately and objectively about
economic issues.

Here are some common pitfalls to avoid in successfully applying
the economic perspective.

Biases Most people bring a bundle of biases and preconcep-
tions to the field of economics. For example, some might think

Pitfalls to Sound Economic Reasoning

newspapers and broadcast media is sometimes emotionally bi-
ased, or loaded. The writer or spokesperson may have a cause to
promote or an ax to grind and may slant comments accordingly.
High profits may be labeled “obscene,” low wages may be called
“exploitive,” or self-interested behavior may be “greed.” Gov-
ernment workers may be referred to as “mindless bureaucrats”
and those favoring stronger government regulations may be
called “socialists.” To objectively analyze economic issues, you
must be prepared to reject or discount such terminology.

that corporate profits are exces-
sive or that lending money is
always superior to borrowing
money. Others might believe
that government is necessarily
less efficient than businesses or
that more government regula-
tion is always better than less.
Biases cloud thinking and in~
terfere with objective analysis.
All of us must be willing to
shed biases and preconceptions
that are not supported by facts.

Loaded Terminology The
economic terminology used in

resource supplies, technological advances make possible
the production of more industrial robots and more pizzas.

A real-world example of improved technology is the
recent surge of new technologies relating to computers,
communications, and biotechnology. Technological ad-
vances have dropped the prices of computers and greatly
increased their speed. Improved software has greatly in-
creased the everyday usefulness of computers. Cellular
phones and the Internet have increased communications
capacity, enhancing production and improving the effi-
ciency of markets. Advances in biotechnology have
resulted in important agricultural and medical discoveries.
The sum of these new technologies is so significant that
they may be contributing to greater-than-normal U.S.
economic growth (larger rightward shifts of the nation’s
production possibilities curve).

Conclusion: Economic growth is the result of (1) in-
creases in supplies of resources, (2) improvements in
resource quality, and (3) technological advances. The con-
sequence of growth is that a full-employment economy
can enjoy a greater output of both consumption goods and
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Fallacy of Composition An-

other pitfall in economic think-

ing is the assumption that what

is true for one individual or

part of a whole is necessarily

true for a group of individuals

or the whole. This is a logical

fallacy called the fallacy of com-
position; the assumption is not 1
correct. A statement that is
valid for an individual or part is
not necessarily valid for the {
larger group or whole. You 3
may see the action better if you

leap to your feet to see an

capital goods. Whereas static, no-growth economies must i
sacrifice some of one good to obtain more of another, |
dynamic, growing economies can have larger quantities of |
both goods. (Key Question 13) ) IJ
|
I

Present Choices and

Future Possibilities

An economy’s current choice of positions on its produc-
tion possibilities curve helps determine the future location
of that curve. Let’s designate the two axes of the produc-
tion possibilities curve as “goods for the future” and
“goods for the present,” as in Figure 1.6. Goods for the
future are such things as capital goods, research and edu-
cation, and preventive medicine. They increase the quan- ¥
tity and quality of property resources, enlarge the stock of §
technological information, and improve the quality of
human resources. As we have already seen, goods for the
future, such as capital goods, are the ingredients of eco-
nomic growth. Goods for the present are consumer goods,
such as food, clothing, and entertainment.




outstanding play at a football game. But if all the spectators leap
to their feet at the same time, nobody—including you—will
have a better view than when all remained seated.

Here is an economic example: An individual farmer who
reaps a particularly large crop is likely to realize a sharp gain
in income. But this statement cannot be generalized to farm-
ers as a group. The individual farmer’s large “bumper” crop
will not noticeably reduce crop prices because each farmer
produces 2 negligible fraction of the total farm output. But
for all farmers as a group, prices decline when total output in-
creases. Thus, if all farmers reap bumper crops, the total out-
put of farm products will increase, depressing crop prices. If
the price declines are relatively large, total farm income
might actually fall.

Post Hoc Fallacy You must think very carefully before con-
cluding that because event A precedes event B, A is the cause
of B. This kind of faulty reasoning is known as the post boc,
ergo propter hoc, or “after this, therefore because of this,” fal-
Jacy. Noneconomic example: A professional football team
hires 2 new coach and the team’s record improves. Is the new
coach the cause? Maybe. Perhaps the presence of more experi-
enced and talented players or an easier schedule is the true
cause. The rooster crows before dawn, but does not cause the
sunrise.

Economic example: Many people blamed the Great
Depression of the 1930s on the stock market crash of 1929. But
the crash did not cause the Great Depression. The same severe

FIGURE 1.6 Present choices and future locations

favoring “present goods,” as made by Presentville in (a), will cause a mo

weaknesses in the economy that caused the crash caused the
Great Depression. The depression would have occurred even
without the preceding stock market crash.

Correlation but not Causation Do not confuse correlation,
or connection, with causation. Correlation between two events
or two sets of data indicates only that they are associated in
some systematic and dependable way. For example, we may find
that when variable X increases, ¥ also increases. But this corre-
Jation does not necessarily mean that there is causation—that an
increase in X is the cause of an increase in Y. The relationship
could be purely coincidental or dependent on some other
factor, Z, not included in the analysis.

Here is an example: Economists have found a positive cor-
relation between education and income. In general, people with
more education earn higher incomes than those with less educa-
tion. Common sense suggests education is the cause and higher
incomes are the effect; more education implies a more knowl-
edgeable and productive worker, and such workers receive
larger salaries.

But might the relationship be explainable in other ways?
Are education and income correlated because the characteris-
tics required for succeeding in education—ability and motiva-
tion— are the same ones required to be a productive and
highly paid worker? If so, then people with those traits will
probably both obtain more education and earn higher incomes.
But greater education will not be the sole cause of the higher
income.

of production possibilities curves. A nation’s current choice
dest outward shift of the production possibilities curve in the future. A

nation’s current choice favoring “future goods,” as made by Futureville in (b), will result in a greater outward shift of the curve in the future.

Goods for the future

Goods for the present

(@

Presentville

Goods for the future

Goods for the present

(b)

Futureville
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Now suppose there are two hypothetical economies,
Presentville and Futureville, which are initially identical in
every respect except one: Presentville’s current choice of
positions on its production possibilities curve strongly
favors present goods over future goods.
Point P in Figure 1.6a indicates that choice.
It is located quite far down the curve to the
right, indicating 2 high priority for goods
for the present, at the expense of fewer
goods for the future. Futureville, in con-

Gl.2 .
. trast, makes a current choice that stresses
Present choices
and furure  larger amounts of future goods and smaller
possibilities ~ amounts of present goods, as shown by

point F in Figure 1.6b.

Now, other things equal, we can expect the future
production possibilities curve of Futureville to be farther
to the right than Presentville’s curve. By currently choos-
ing an output more favorable to technological advances
and to increases in the quantity and quality of resources,
Futureville will achieve greater economic growth than
Presentville. In terms of capital goods, Futureville is
choosing to make larger current additions to its “national
factory” by devoting more of its current output to capital
than Presentville. The payoff from this choice for
Futureville is greater future production capacity and eco-
nomic growth. The opportunity cost is fewer consumer
goods in the present for Futureville to enjoy.

Is Futureville’s choice thus necessarily “better” than
Presentville’s? That, we cannot say. The different outcomes
simply reflect different preferences and priorities in the two
countries. But each country will have to live with the eco-
nomic consequences of its choice. (Key Question 14)

A Qualification:

International Trade
Production possibilities analysis implies that an individual
nation is limited to the combinations of output indicated

Summary

1. Economics is the social science that examines how individu-
als, institutions, and society make optimal choices under
conditions of scarcity.

2. The economic perspective includes three elements: scarcity
and choice, purposeful behavior, and marginal analysis. It sees
individuals and institutions making rational decisions based
on comparisons of marginal costs and marginal benefits.

3. Economists employ the scientific method, in which they
form and test hypotheses of cause-and-effect relationships
to generate theories, laws, and principles. Economists often
combine theories into representations called models.

by its production possibilities curve. But we must modify
this principle when international specialization and trade
exist.

You will see in later chapters that an economy can
circumvent, through international specialization and
trade, the output limits imposed by its domestic produc-
tion possibilities curve. International specialization
means directing domestic resources to output that a na-
tion is highly efficient at producing. International trade
involves the exchange of these goods for goods produced
abroad. Specialization and trade enable a nation to get
more of a desired good at less sacrifice of some other
good. Rather than sacrifice 3 units of robots to get a third
unit of pizza, as in Table 1.1, a nation might be able to
obtain the third unit of pizza by trading only 2 units of
robots for it. Specialization and trade have the same ef-
fect as having more and better resources or discovering
improved production techniques; both increase the quan-
tities of capital and consumer goods available to society.
Expansion of domestic production possibilities and in-
ternational trade are two separate routes for obtaining
greater output.

QUICK REVIEW 1.4

* Unemployment causes an economy to operate at a point
inside its production possibilities curve.

* Increases in resource supplies, improvements in resource
quality, and technological advance cause economic growth,
which is depicted as an outward shift of the production
possibilities curve.

* An economy’s present choice of capital and consumer goods
helps determine the future location of its production
possibilities curve.

* International specialization and trade enable a nation to obtain
more goods than its production possibilities curve indicates.

4. Macroeconomics looks at the economy as a whole or its ma-
jor aggregates. Microeconomics examines specific economic &

units or institutions.

5. Positive economic analysis deals with facts; normative eco- ¢

nomics reflects value judgments.

6. Individuals face an economizing problem. Because their’ i

wants exceed their income, they must decide what to pur-¢
chase and what to forgo. Society also faces an economizing;
problem. Societal wants exceed the available resources nec-%
essary to fulfill them. Society therefore must decide what to3
produce and what to forgo. ‘




If you glance quickly through this text, you will find many
graphs. Some seem simple, while others seem more formi-
dable. All are included to help you visualize and under-
stand economic relationships. Physicists and chemists
sometimes illustrate their theories by building arrange-
ments of multicolored wooden balls, representing protons,
neutrons, and electrons, which are held in proper relation
to one another by wires or sticks. Economists most often
use graphs to illustrate their models. By understanding
these “pictures,” you can more readily comprehend eco-
nomic relationships. Most of our principles or models ex-
plain relationships between just two sets of economic facts,
‘which can be conveniently represented with two-
‘dimensional graphs.

Construction of a Graph
A graph is a visual representation of the relationship be-
tween two variables. The table in Figure 1 is a hypotheti-
cal illustration showing the relationship between income
and consumption for the economy as a whole. Without
even studying economics, we would expect intuitively that
eople would buy more goods and services when their in-
comes go up. Thus we are not surprised to find in the table
that total consumption in the economy increases as total
-income increases.
The information in the table is expressed graphically
in Figure 1. Here is how it is done: We want to show visu-
ally or graphically how consumption changes as income
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Graphs and Their Meaning

changes. Since income is the determining factor, we rep-
resent it on the horizontal axis of the graph, as is custom-
ary. And because consumption depends on income, we
represent it on the vertical axis of the graph, as is also
customary. Actually, what we are doing is representing the
independent variable on the horizontal axis and the depen-
dent variable on the vertical axis.

Now we arrange the vertical and horizontal scales of
the graph to reflect the ranges of values of consumption
and income, and we mark the scales in convenient incre-
ments. As you can see, the values marked on the scales
cover all the values in the table. The increments on both
scales are $100.

Because the graph has two dimensions, each point
within it represents an income value and its associated
consumption value. To find a point that represents one of
the five income-consumption combinations in the table in
Figure 1, we draw perpendiculars from the appropriate
values on the vertical and horizontal axes. For example, to
plot point ¢ (the $200 income-$150 consumption point),
we draw perpendiculars up from the horizontal (income)
axis at $200 and across from the vertical (consumption)
axis at $150. These perpendiculars intersect at point ¢,
which represents this particular income-consumption
combination. You should verify that the other income-
consumption combinations shown in the table are prop-
erly located in the graph in Figure 1. Finally, by assuming
that the same general relationship between income and

FIGURE | Graphing the direct relationship between consumption and income. Two sets of data that are positively or
directly related, such as consumption and income, graph as an upsloping line.
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consumption prevails for all other incomes, we draw a line
or smooth curve to connect these points. That line or
curve represents the income-consumption relationship.

If the graph is a straight line, as in Figure 1, we say the
relationship is /inear.

Direct and Inverse Relationships
The line in Figure 1 slopes upward to the right, so it de-
picts a direct relationship between income and consump-
tion. By a direct relationship (or positive relationship) we
mean that two variables—in this case, consumption and
income—change in the same direction. An increase in con-
sumption is associated with an increase in income; a de-
crease in consumption accompanies a decrease in income.
When two sets of data are positively or directly related,
they always graph as an upsloping line, as in Figure 1.

In contrast, two sets of data may be inversely related.
Consider the table in Figure 2, which shows the relation-
ship between the price of basketball tickets and game at-
tendance at Gigantic State University (GSU). Here we
have an inverse relationship (or negative relationship)
because the two variables change in opposite directions.
When ticket prices decrease, attendance increases. When
ticket prices increase, attendance decreases. The six data
points in the table in Figure 2 are plotted in the graph.
Observe that an inverse relationship always graphs as a
downsloping line.

negatively or inversely related, such

Ticket Attendance,
Price Thousands Point

$50 0 a
40 4 b
30 8 c
20 12 d

10 16 e

0 20 f

Dependent and Independent

Variables
Although it is not always easy, economists seek to deter-

mine which variable is the “cause” and which is the
“effect.” Or, more formally, they seek the independent
variable and the dependent variable. The independent
variable is the cause or source; it is the variable that
changes first. The dependent variable is the effect or
outcome; it is the variable that changes because of the
change in the independent variable. As noted in our
income-consumption example, income generally is the in-
dependent variable and consumption the dependent vari-
able. Income causes consumption to be what it is rather
than the other way around. Similarly, ticket prices (set in
advance of the season) determine attendance at GSU bas-
ketball games; attendance at games does not determine
the ticket prices for those games. Ticket price is the inde-
pendent variable, and the quantity of tickets purchased is
the dependent variable.

You may recall from your high school courses that
mathematicians always put the independent variable
(cause) on the horizontal axis and the dependent variable
(effect) on the vertical axis. Economists are less tidy; their
graphing of independent and dependent variables is more
arbitrary. Their conventional graphing of the income-
consumption relationship is consistent with mathematical
presentation, but economists put price and cost data on

FIGURE 2 Graphing the inverse relationship between ticket prices and game attendance. Two sets of data that are
as ticket price and the attendance at basketball games, graph as a downsloping line.
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the vertical axis. Hence, economists’ graphing of GSU’
ticket price—attendance data conflicts with normal mathe-

matical procedure.

Other Things Equal

Our simple two-variable graphs purposely ignore many
other factors that might affect the amount of consumption
occurring at each income level or the number of people
who attend GSU basketball games at each possible ticket
price. When economists plot the relationship between any
two variables, they employ the cezeris paribus (other-things-
equal) assumption. Thus, in Figure 1 all factors other than
income that might affect the amount of consumption are
presumed to be constant or unchanged. Similarly, in Fig-
ure 2 all factors other than ticket price that might influ-
ence attendance at GSU basketball games are assumed
constant. In reality, “other things” are not equal; they of-
ten change, and when they do, the relationship repre-
sented in our two tables and graphs will change.
Specifically, the lines we have plotted would shift to new
locations.

Consider a stock market “crash.” The dramatic drop
in the value of stocks might cause people to feel less
wealthy and therefore less willing to consume at each level
of income. The result might be a downward shift of the
consumption line. To see this, you should plot a new con-
sumption line in Figure 1, assuming that consumption is,
say, $20 less at each income level. Note that the relation-
ship remains direct; the line merely shifts downward to
reflect less consumption spending at each income level.

Similarly, factors other than ticket prices might affect
GSU game attendance. If GSU loses most of its games,
attendance at GSU games might be less at each ticket
price. To see this, redraw Figure 2, assuming that 2000
fewer fans attend GSU games at each ticket price. (Key
Appendix Question 2)

Slope of a Line

Lines can be described in terms of their slopes. The slope
of a straight line is the ratio of the vertical change (the
rise or drop) to the horizontal change (the run) between
any two points of the line.

Positive Slope Between point b and point ¢ in Figure
1 the rise or vertical change (the change in consumption)
is +$50 and the run or horizontal change (the change in
income) is +$100. Therefore:

Slope vertical change _+50 _1_ 5

~ horizontal change +100 ~ 2~ °

Note that our slope of } or .5 is positive because con-
sumption and income change in the same direction; that
is, consumption and income are directly or positively
related.

The slope of .5 tells us there will be a $1 increase in
consumption for every $2 increase in income. Similarly, it
indicates that for every $2 decrease in income there will be
a $1 decrease in consumption.

Negative Slope Between any two of the identified
points in Figure 2, say, point ¢ and point 4, the vertical
change is —10 (the drop) and the horizontal change is +4
(the run). Therefore:

vertical change  _ g

Slope = horizontal change =~ +4
= — l = —
2 3 2.5

This slope is negative because ticket price and attendance
have an inverse relationship.

Note that on the horizontal axis attendance is stated
in thousands of people. So the slope of ~10/+4 or —2.5
means that lowering the price by $10 will increase atten-
dance by 4000 people. This is the same as saying that a
$2.50 price reduction will increase attendance by 1000
persons.

Slopes and Measurement Units The slope
of a line will be affected by the choice of units for either
variable. If, in our ticket price illustration, we had chosen
to measure attendance in individual people, our horizon-
tal change would have been 4000 and the slope would
have been

10 _ -1 _
+4000 ~ +400

The slope depends on the way the relevant variables are
measured.

Slope = —.0025

Slopes and Marginal Analysis Recall that eco-
nomics is largely concerned with changes from the status
quo. The concept of slope is important in economics be-
cause it reflects marginal changes—those involving 1 more
(or 1 less) unit. For example, in Figure 1 the .5 slope shows
that $.50 of extra or marginal consumption is associated
with each $1 change in income. In this example, people
collectively will consume $.50 of any $1 increase in their
incomes and reduce their consumption by $.50 for each $1
decline in income.
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FIGURE 3 Infinite and zero slopes. (2)A line parallel
to the vertical axis has an infinite slope. Here, purchases of watches
remain the same no matter what happens to the price of bananas.
(b) A line parallel to the horizontal axis has a slope of zero. Here,
consumption remains the same no matter what happens to the
divorce rate. In both (a) and (b), the two variables are totally
unrelated to one another.
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Infinite and Zero Slopes Many variables are un-
related or independent of one another. For example, the
quantity of wristwatches purchased is not related to the price
of bananas. In Figure 3a we represent the price of bananas
on the vertical axis and the quantity of watches demanded
on the horizontal axis. The graph of their relationship is the
line parallel to the vertical axis, indicating that the same
quantity of watches is purchased no matter what the price of
bananas. The slope of such a line is infinte.

Similarly, aggregate consumption is completely unre-
Jated to the nation’s divorce rate. In Figure 3b we put con-
sumption on the vertical axis and the divorce rate on the
horizontal axis. The line parallel to the horizontal axis rep-
resents this lack of relatedness. This line has a slope of zero.

Vertical Intercept

A line can be located on a graph (without plotting points) if
we know its slope and its vertical intercept. The vertical
intercept of a line is the point where the line meets the
vertical axis. In Figure 1 the intercept is $50. This intercept
means that if current income were zero, Consummers would
still spend $50. They might do this through borrowing or
by selling some of their assets. Similarly, the $50 vertical
intercept in Figure 2 shows thatata $50 ticket price, GSU’
basketball team would be playing in an empty arena.

Equation of a Linear Relationship

If we know the vertical intercept and slope, we can de-
scribe a line succinctly in equation form. In its general
form, the equation of a straight line is

y=a+bx

where y = dependent variable
a4 = vertical intercept
b = slope of line
x = independent variable

For our income-consumption example, if C represents
consumption (the dependent variable) and Y represents

income (the independent variable), we can write C = & + bY.
By substituting the known values of the intercept and the

slope, we get

C=50+.5Y

This equation also allows us to determine the amount of
consumption C at any specific level of income. You should
use it to confirm that at the $250 income level, consump-
tion is $175.

When economists reverse mathematical convention
by putting the independent variable on the vertical axis
and the dependent variable on the horizontal axis, then y
stands for the independent variable, rather than the de-
pendent variable in the general form. We noted previously
that this case is relevant for our GSU ticket price-
attendance data. If P represents the ticket price (indepen-
dent variable) and Q represents attendance (dependent
variable), their relationship is given by

P=50-25Q

where the vertical intercept is 50 and the negative slope is
—21, or —2.5. Knowing the value of P lets us solve for Q,
our dependent variable. You should use this equation to
predict GSU ticket sales when the ticket price is $15. (Key
Appendix Question 3)

Slope of a Nonlinear Curve

We now move from the simple world of linear relation-
ships (straight lines) to the more complex world of nonlinear
relationships. The slope of a straight line is the same at all
its points. The slope of a line representing a nonlinear re-
lationship changes from one point to another. Such lines
are referred to as curves. (It is also permissible to refertoa
straight line as a “curve.”)

Consider the downsloping curve in Figure 4. Its slope
is negative throughout, but the curve flattens as we move
down along it. Thus, its slope constantly changes; the
curve has a different slope at each point.
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To measure the slope at a specific point, we draw a FIGURE 4 Determining the slopes of curves.

. . : ; : The slope of a nonlinear curve changes from point to point on the
Stralght line ta.nge,n,t to the curve at that p O.lnt. A line Is curve.The slope at any point (say, B) can be determined by drawing
tungent at a point if jt tOUCheS, but does not inter: scet, the a straight line that is tangent to that point (line bb) and calculating
curve at that point. Thus line 2z is tangent to the curve in the slope of that line.

Figure 4 at point 4. The slope of the curve
at that point is equal to the slope of the
tangent line. Specifically, the total vertical 20ke
change (drop) in the tangent line 4z is —20
and the total horizontal change (run) is +5.
Because the slope of the tangent line 44 is
—20/+5, or —4, the slope of the curve at
point A4 is also —4.

Line bb in Figure 4 is tangent to the curve at point B.
Following the same procedure, we find the slope at B to be
—5/+15, or —1. Thus, in this flatter part of the curve, the
slope is less negative. (Key Appendix Question 7)

Gi.3

Curves and slopes

Appendix Summary

1. Graphs are a convenient and revealing way to represent 6. The slope of a straight line is the ratio of the vertical change
economic relationships. to the horizontal change between any two points. The slope
2. Two variables are positively or directly related when their of an upsloping line is positive; the slope of a downsloping
values change in the same direction. The line (curve) repre- line is negative.
senting two directly related variables slopes upward. 7. 'The slope of a line or curve depends on the units used in
3. "Two variables are negatively or inversely related when their measuring the variables. It is especially relevant for econom-
values change in opposite directions. The curve represent- ics because it measures marginal changes.
ing two inversely related variables slopes downward. 8. The slope of a horizontal line is zero; the slope of a vertical
4. The value of the dependent variable (the “effect”) is deter- line is infinite.
mined by the value of the independent variable (the 9. The vertical intercept and slope of a line determine its loca-
“cause”). tion; they are used in expressing the line—and the relation-
5. When the “other factors” that might affect a two-variable ship between the two variables—as an equation.
relationship are allowed to change, the graph of the rela-  10. The slope of a curve at any point is determined by calculating
tionship will likely shift to a new location. the slope of a straight line tangent to the curve at that point.

Appendix Terms and Concepts

horizontal axis inverse relationship slope of a straight line
vertical axis independent variable vertical intercept
direct relationship dependent variable

Appendix Study Questions

L. Briefly explain the use of graphs as a way to represent eco- Pect to find between () the number of inches of rainfall per
nomic relationships. What is an inverse relationship? How month and the sale of umbrellas, (5) the amount of tuition
does it graph? What is a direct relationship? How does it and the level of enrollment at a university, and (¢) the popu-

graph? Graph and explain the relationships you would ex- larity of an entertainer and the price of her concert tickets.




INTHIS CHAPTERYOU WILL LEARN:

The difference between a command system and
a market system.

The main characteristics of the market system.

How the market system decides what to produce,
how to produce it, and who obtains it.

How the market system adjusts to change and
promotes progress.

The mechanics of the circular flow model.

The Market System and
the Circular Flow

You are at the mall. Suppose you were assigned to compile a list of all the individual goods and ser-
vices there, including the different brands and variations of each type of product. That task would be
daunting and the list would be long! And even though a single shopping mall contains a remarkable
quantity and variety of goods, it is only a tiny part of the national economy.

Who decided that the particular goods and services available at the mall and in the broader econ-
omy should be produced? How did the producers determine which technology and types of resources
to use in producing these particular goods? Who will obtain these products? What accounts for the
new and improved products among these goods? This chapter will answer these and related
questions.




Economic Systems

Every society needs to develop an economic system—a
particular set of institutional arrangements and a coordi-
nating mechanism—to respond to the economizing prob-
lem. The economic system has to determine what goods
 are produced, how they are produced, who gets them, how
to accommodate change, and how to promote technological
progress.

Economic systems differ as to (1) who owns the fac-
tors of production and (2) the method used to motivate,
coordinate, and direct economic activity. Economic sys-
tems have two polar extremes: the command system and
the market system.

The Command System

The command system is also known as socialism or com-
munism. In that system, government owns most property
resources and economic decision making occurs through a
central economic plan. A central planning board appointed
by the government makes nearly all the major decisions
concerning the use of resources, the composition and dis-
tribution of output, and the organization of production.
The government owns most of the business firms, which
produce according to government directives. The central
planning board determines production goals for each en-
terprise and specifies the amount of resources to be allo-
cated to each enterprise so that it can reach its production
goals. The division of output between capital and con-
sumer goods is centrally decided, and capital goods are al-
located among industries on the basis of the central
planning board’s long-term prierities. - - :
A pure command economy would rely exclusively on a
central plan to allocate the government-owned property
_ ¥ resources. But, in reality, even the preeminent command
L economy—the Soviet Union—tolerated some private own-
' ership and incorporated some markets before its collapse
in 1992. Recent reforms in Russia and most of the eastern
European nations have to one degree or another trans-

e . formed their command economies to capitalistic, market-
¢ oriented systems. China’s reforms have not gone as far, but
F . they have greatly reduced the reliance on central planning.

Although government ownership of resources and capital
in China is still extensive, the nation has increasingly relied
on free markets to organize and coordinate its economy.
North Korea and Cuba are the last prominent remaining
examples of largely centrally planned economies. Other
: = countries using mainly the command system include
. Turkmenistan, Laos, Belarus, Libya, Myanmar, and Iran.
5 o Later in this chapter, we will explore the main reasons for
‘ the general demise of the command systems.
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The Market System

The polar alternative to the command system is the mar-
ket system, or capitalism. The system is characterized by
the private ownership of resources and the use of markets
and prices to coordinate and direct economic activity.
Participants act in their own self-interest. Individuals and
businesses seek to achieve their economic goals through
their own decisions regarding work, consumption, or
production. The system allows for the private ownership
of capital, communicates through prices, and coordinates
economic activity through markets—places where buyers
and sellers come together. Goods and services are produced
and resources are supplied by whoever is willing and able
to do so. The result is competition among independently
acting buyers and sellers of each product and resource.
Thus, economic decision making is widely dispersed. Also,
the high potential monetary rewards create powerful in-
centives for existing firms to innovate and entrepreneurs
to pioneer new products and processes.

In pure capitalism—or laissez-faire capitalism—
government’s role would be limited to protecting private
property and establishing an environment appropriate to
the operation of the market system. The
5 term “laissez-faire” means “let it be,” that
~ | is, keep government from interfering with
~  the economy. The idea is that such inter-
ference will disturb the efficient working of
the market system.

But in the capitalism practiced in the
United States and most other countries,
government plays a substantial role in the economy. It not
only providés the tules for economic activity but also pro-
motes economic stability and growth, provides certain
goods and services that would otherwise be underproduced
or not produced at all, and modifies the distribution of in-
come. The government, however, is not the dominant eco-
nomic force in deciding what to produce, how to produce
it, and who will get it. That force is the market.

Laissez-faire

Characteristics of the
Market System

An examination of some of the key features of the market
system in detail will be very instructive.

Private Property

In a market system, private individuals and firms, not the
government, own most of the property resources (land
and capital). It is this extensive private ownership of
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capital that gives capitalism its name. This right of private
property, coupled with the freedom to negotiate binding
legal contracts, enables individuals and businesses to ob-
tain, use, and dispose of property resources as they see fit.
The right of property owners to designate who will receive
their property when they die helps sustain the institution
of private property.

Property rights encourage investment, innovation, ex-
change, maintenance of property, and economic growth.
Nobody would stock a store, build a factory, or clear land
for farming if someone else, or the government itself,
could take that property for his or her own benefit.

Property rights also extend to intellectual property
through patents, copyrights, and trademarks. Such long-
term protection encourages people to write books, music,
and computer programs and to invent new products and
production processes without fear that others will steal
them and the rewards they may bring.

Moreover, property rights facilitate exchange. The
title to an automobile or the deed to a cattle ranch assures
the buyer that the seller is the legitimate owner. Also,
property rights encourage owners to maintain or improve
their property so as to preserve or increase its value.
Finally, property rights enable people to use their time
and resources to produce more goods and services, rather
than using them to protect and retain the property they
have already produced or acquired.

Freedom of Enterprise and Choice
Closely related to private ownership of property is
freedom of enterprise and choice. The market system
requires that various economic units make certain choices,
which are expressed and implemented in the economy’s
markets:

* Freedom of enterprise ensures that entrepreneurs
and private businesses are free to obtain and use eco-
nomic resources to produce their choice of goods
and services and to sell them in their chosen markets.

* Freedom of choice enables owners to employ or
dispose of their property and money as they see fit. It
also allows workers to try to enter any line of work
for which they are qualified. Finally, it ensures that
consumers are free to buy the goods and services that
best satisfy their wants and that their budgets allow.
These choices are free only within broad legal limita-

tions, of course. Illegal choices such as selling human or-
gans or buying illicit drugs are punished through fines and
imprisonment. (Global Perspective 2.1 reveals that the de-
gree of economic freedom varies greatly from economy to
economy.)

Self-Interest

In the market system, self-interest is the motivating force
of the various economic units as they express their free
choices. Self-interest simply means that
each economic unit tries to achieve its own
particular goal, which usually requires de-
livering something of value to others. En-
trepreneurs try to maximize profit or
022 minimize loss. Property owners try to get
the highest price for the sale or rent of
their resources. Workers try to maximize
their utility (satisfaction) by finding jobs that offer the best
combination of wages, hours, fringe benefits, and working
conditions. Consumers try to obtain the products they
want at the lowest possible price and apportion their

Self-interest

GLOBAL PERSPECTIVE 2.1

Index of Economic Freedom, Selected Economies

The Index of Economic Freedom measures economic freedom
using 10 broad categories such as trade policy, property rights,
and government intervention, with each category containing
more than 50 specific criteria. The index then ranks 157 econ-
omies according to their degree of economic freedom. A few
selected rankings for 2006 are listed below.

22 Belgium
33 Spain
44 France

MOSTLY UNFREE

REPRESSED

Source: Heritage Foundation (www.heritage.org) and The Wall
Street Journal.



expenditures to maximize their utility. The motive of self-
interest gives direction and consistency to what might
otherwise be a chaotic economy.

Competition

The market system depends on competition among eco-
pomic units. The basis of this competition is freedom of
choice exercised in pursuit of a monetary return. Very
broadly defined, competition requires:

¢ Two or more buyers and two or more sellers acting
independently in a particular product or resource
market. (Usually there are many more than two
buyers or sellers.)

o Freedom of sellers and buyers to enter or leave mar-
kets, on the basis of their economic self-interest.
Competition among buyers and sellers diffuses eco-

nomic power within the businesses and households that
make up the economy. When there are many buyers and
sellers acting independently in a market, no single buyer
or seller can dictate the price of the product or resource
because others can undercut that price.

Competition also implies that producers can enter or
leave an industry; no insurmountable barriers prevent an
industry’s expanding or contracting. This freedom of an
industry to expand or contract provides the economy with
the flexibility needed to remain efficient over time. Free-
dom of entry and exit enables the economy to adjust to
changes in consumer tastes, technology, and resource
availability.

The diffusion of economic power inherent in compe-
tition limits the potential abuse of that power. A producer
that charges more than the competitive market price will
lose sales to other producers. An employer who pays less
than the competitive market wage rate will lose workers to
other employers. A firm that fails to exploit new technol-
ogy will lose profits to firms that do. Competition is the
basic regulatory force in the market system.

Markets and Prices

We may wonder why an economy based on self-interest
does not collapse in chaos. If consumers want breakfast
cereal but businesses choose to produce running shoes and
resource suppliers decide to make computer software, pro-
duction would seem to be deadlocked by the apparent in-
consistencies of free choices.

In reality, the millions of decisions made by house-
holds and businesses are highly coordinated with one an-
other by markets and prices, which are key components of
the market system. They give the system its ability to co-
ordinate millions of daily economic decisions. A market is
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an institution or mechanism that brings buyers (“demand-
ers”) and sellers (“suppliers”) into contact. A market sys-
tem conveys the decisions made by buyers and sellers of
products and resources. The decisions made on each side
of the market determine a set of product and resource
prices that guide resource owners, entrepreneurs, and
consumers as they make and revise their choices and pur-
sue their self-interest.

Just as competition is the regulatory mechanism of
the market system, the market system itself is the organiz-
ing and coordinating mechanism. It is an elaborate com-
munication network through which innumerable
individual free choices are recorded, summarized, and bal-
anced. Those who respond to market signals and heed
market dictates are rewarded with greater profit and in-
come; those who do not respond to those signals and
choose to ignore market dictates are penalized. Through
this mechanism society decides what the economy should
produce, how production can be organized efficiently, and
how the fruits of production are to be distributed among
the various units that make up the economy.

QUICK REVIEW 2.1

¢ The market system rests on the private ownership of
property and on freedom of enterprise and freedom of
choice.

* The market system permits consumers, resource suppliers,
and businesses to pursue and further their self-interest.

* Competition diffuses economic power and limits the actions
of any single seller or buyer.

¢ The coordinating mechanism of capitalism is a system of
markets and prices.

Technology and Capital Goods

In the market system, competition, freedom of choice, self-
interest, and personal reward provide the opportunity and
motivation for technological advance. The monetary re-
wards for new products or production techniques accrue
directly to the innovator. The market system therefore en-
courages extensive use and rapid development of complex
capital goods: tools, machinery, large-scale factories, and
facilities for storage, communication, transportation, and
marketing.

Advanced technology and capital goods are important
because the most direct methods of production are often
the least efficient. The only way to avoid that inefficiency is
to rely on capital goods. It would be ridiculous for a farmer
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to go at production with bare hands. There are huge bene-
fits to be derived from creating and using such capital
equipment as plows, tractors, and storage bins. The more
efficient production means much more abundant outputs.

Specialization

The extent to which market economies rely on special-
ization is extraordinary. Specialization is the use of re-
sources of an individual, firm, region, or nation to produce
one or a few goods or services rather than the entire range
of goods and services. Those goods and services are then
exchanged for a full range of desired products. The major-
ity of consumers produce virtually none of the goods and
services they consume, and they consume little or nothing
of the items they produce. The person working nine to
five installing windows in Lincolns may own 2 Ford. Many
farmers sell their milk to the local dairy and then buy but-
ter at the local grocery store. Society learned long ago that
self-sufficiency breeds inefficiency. The jack-of-all-trades
may be a very colorful individual but is certainly not an
efficient producer.

Division of Labor Human specialization—called
the division of labor—contributes to a society’s output in
several ways:
o Specialization makes use of differences in ability.
Specialization enables individuals to take
% advantage of existing differences in their
{ | > abilities and skills. If Peyton is strong, ath-
b letic, and good at throwing a football and

N Beyonce is beautiful, agile, and can sing,
023 their distribution of talents can be most
- fficiently used if Peyton plays profes-
Specialization ¢

sional football and Beyonce records songs

and gives concerts.

o Specialization fosters learning by doing. Even if the
abilities of two people are identical, specialization
may still be advantageous. By devoting time to a sin-
gle task, a person is more likely to develop the skills
required and to improve techniques than by working
at a number of different tasks. You learn to be a good
lawyer by studying and practicing law.

* Specialization saves time. By devoting time to a sin-
gle task, a person avoids the loss of time incurred in
shifting from one job to another. Also, time is saved
by not “fumbling around” with a task that one is not
trained to do.

division of labor

For all these reasons, specialization increases the total
output society derives from limited resources.

Geographic Specialization Specialization also
works on a regional and international basis. It is conceiv-
able that oranges could be grown in Nebraska, but because
of the unsuitability of the land, rainfall, and temperature,
the costs would be very high. And it is conceivable that
wheat could be grown in Florida, but such production
would be costly for similar geographical reasons. So
Nebraskans produce products—wheat in particular—for
which their resources are best suited, and Floridians do the
same, producing oranges and other citrus fruits. By special-
izing, both economies produce more than is needed locally.
Then, very sensibly, Nebraskans and Floridians swap some
of their surpluses—wheat for oranges, oranges for wheat.

Similarly, on an international scale, the United States
specializes in producing such items as commercial aircraft
and computers, which it sells abroad in exchange for video
recorders from Japan, bananas from Honduras, and woven
baskets from Thailand. Both human specialization and
geographic specialization are needed to achieve efficiency
in the use of limited resources.

Use of Money

A rather obvious characteristic of any economic system is
the extensive use of money. Money performs several func-
tions, but first and foremost it is a medium of exchange.
It makes trade easier.

Specialization requires exchange. Exchange can, and
sometimes does, occur through barter—swapping goods
for goods, say, wheat for oranges. But barter poses serious
problems because it requires a coincidence of wants between
the buyer and the seller. In our example, we assumed that
Nebraskans had excess wheat to trade and wanted oranges.
And we assumed that Floridians had excess oranges to
trade and wanted wheat. So an exchange occurred. But if
such 2 coincidence of wants is missing, trade is stymied.

Suppose that Nebraska has no interest in Florida’s or-
anges but wants potatoes from Idaho. And suppose that
Idaho wants Florida’s oranges but not Nebraska’s wheat.
And, to complicate matters, suppose that Florida wants
some of Nebraska’s wheat but none of Idaho’s potatoes.
We summarize the situation in Figure 2.1

In none of the cases shown in the figure is there a coin-
cidence of wants. Trade by barter clearly would be difficult.
Instead, people in each state use money, which is simply a
convenient social invention to facilitate exchanges of goods
and services. Historically, people have used cattle, cigarettes,
shells, stones, pieces of metal, and many other commodities,
with varying degrees of success, as 2 medium of exchange.
But to serve as money, an item needs to pass only one test: It
must be generally acceptable to sellers in exchange for their
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FIGURE 2.1 Money facilitates trade when wants do not coincide. The use of money as a medium of
exchange permits trade to be accomplished despite a noncoincidence of wants. (1) Nebraska trades the wheat that Florida wants for
money from Floridians; (2) Nebraska trades the money it receives from Florida for the potatoes it wants from Idaho; (3) Idaho trades
the money it receives from Nebraska for the oranges it wants from Florida.

NEBRASKA |
Has surplus of

wheat,

4 ~ FLORIDA
Has surplus of
oranges.

Wants wheat. |

Wants potatoes.

IDAHO
Has surplus of
potatoes.
Wants oranges.

goods and services. Money is socially defined; whatever soci-
ety accepts as a medium of exchange # money.

Most economies use pieces of paper as money.
The use of paper dollars (currency) as a medium of ex-
change is what enables Nebraska, Florida, and Idaho to
overcome their trade stalemate, as demonstrated in
Figure 2.1.

On a global basis different nations have different cur-
rencies, and that complicates specialization and exchange.
But markets in which currencies are bought and sold make
it possible for U.S. residents, Japanese, Germans, Britons,
and Mexicans, through the swapping of dollars, yen, euros,
pounds, and pesos, one for another, to exchange goods
and services.

Active, but Limited, Government
An active, but limited, government is the final characteristic
of market systems in modern advanced industrial economies.
Although a market system promotes a high degree of effi-
ciency in the use of its resources, it has certain inherent
shortcomings, called “market failures.” We will discover in
subsequent chapters that government can increase the over-
all effectiveness of the economic system in several ways.

QUICK REVIEW 2.2

¢ The market systems of modern industrial economies are
characterized by extensive use of technologically advanced
capital goods. Such goods help these economies achieve
greater efficiency in production.

* Specialization is extensive in market systems; it enhances
efficiency and output by enabling individuals, regions, and
nations to produce the goods and services for which their
resources are best suited.

* The use of money in market systems facilitates the exchange
of goods and services that specialization requires.
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Five Fundamental Questions

The key features of the market system help explain how
market economies respond to five fundamental questions:

* What goods and services will be produced?

* How will the goods and services be produced?

e Who will get the goods and services?

* How will the system accommodate change?

* How will the system promote progress?
These five questions highlight the economic choices
underlying the production possibilities curve discussed in
Chapter 1. They reflect the reality of scarce resources in a
world of unlimited wants. All economies, whether market
or command, must address these five questions.

What Will Be Produced?

How will a market system decide on the specific types
and quantities of goods to be produced? The simple
answer is this: The goods and services produced at a con-
tinuing profit will be produced, and those produced at a
continuing loss will not. Profits and losses are the differ-
ence between the total revenue (TR) a firm receives from
the sale of its products and the total opportunity cost
(TC) of producing those products. (For economists,
economic costs include not only wage and salary payments
to labor, and interest and rental payments for capital and
land, but also payments to the entrepreneur for organizing
and combining the other resources to produce a
commodity.)

Continuing economic profit (TR > TC) in an indus-
try results in expanded production and the movement of
resources toward that industry. Existing firms grow and
new firms enter. The industry expands. Continuing losses
(TC > TR) in an industry leads to reduced production
and the exit of resources from that industry. Some existing
firms shrink in size; others go out of business. The indus-
try contracts. In the market system, consumers are sover-
eign (in command). Consumer sovereignty is crucial in
determining the types and quantities of goods produced.
Consumers spend their income on the goods they are most
willing and able to buy. Through these “dollar votes”
they register their wants in the market. If the dollar votes
for.a certain product are great enough to create a profit,
businesses will produce that product and offer it for sale.
In contrast, if the dollar votes do not create sufficient rev-
enues to cover costs, businesses will not produce the prod-
uct. So the consumers are sovereign. They collectively
direct resources to industries that are meeting consumer
wants and away from industries that are not meeting con-
surner wants.

The dollar votes of consumers determine not only
which industries will continue to exist but also which
products will survive or fail. Only profitable industries,
firms, and products survive. So firms are not as free to
produce whatever products they wish as one might other-
wise think. Consumers’ buying decisions make the pro-
duction of some products profitable and the production of
other products unprofitable, thus restricting the choice of
businesses in deciding what to produce. Businesses must
match their production choices with consumer choices or
else face losses and eventual bankruptcy.

The same holds true for resource suppliers. The em-
ployment of resources derives from the sale of the goods
and services that the resources help produce. Autoworkers
are employed because automobiles are sold. There are few
remaining professors of early Latin because there are few

CONSIDERTHIS ...
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people desiring to learn Fhe Latin language. Resource
suppliers, desiring to earn income, are not truly free to al-
* Jocate their resources to the production of goods that con-
sumers do not value highly. Consumers register their
preferences in the market; producers and resource suppli-
ers, prompted by their own self-interest, respond appro-

priately. (Key Question 8)

How Will the Goods and Services
Be Produced?

What combinations of resources and technologies will be
used to produce goods and services? How will the produc-
tion be organized? The answer: In combinations and ways
that minimize the cost per unit of output. Because com-
petition eliminates high-cost producers, profitability re-
quires that firms produce their output at minimum cost
per unit. Achieving this least-cost production necessitates,
for example, that firms use the right mix of labor and cap-
ital, given the prices and productivity of those resources. It
also means locating production facilities optimally to hold
down production and transportation expenses.

Least-cost production also means that firms must em-
ploy the most economically efficient technique of produc-
tion in producing their output. The most efficient

& production technique depends on:

* The available technology, that is, the various
combinations of resources that will produce the
desired results.

: * The prices of the needed resources.

R A technique that requires just a few inputs of resources to

£ produce a specific output may be highly inefficient eco-
o nomically if those resources are valued very highly in the
: market. Economic efficiency means obtaining a particular
output of product with the least input of scarce resources,
when both output and resource inputs are measured in
dollars and cents. The combination of resources that will
produce, say, $15 worth of bathroom soap at the lowest
possible cost is the most efficient.

CHAPTER 2
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Suppose there are three possible techniques for pro-
ducing the desired $15 worth of bars of soap. Suppose also
that the quantity of each resource required by each pro-
duction technique and the prices of the required resources
are as shown in Table 2.1. By multiplying the required
quantities of each resource by its price in each of the three
techniques, we can determine the total cost of producing
$15 worth of soap by means of each technique.

Technique 2 is economically the most efficient, be-
cause it is the least costly. It enables society
to obtain $15 worth of output by using a
smaller amount of resources—$13 worth—
than the $15 worth required by the two
other techniques. Competition will dictate
that producers use technique 2. Thus, the

w2l
Loastcose  question of how goods will be produced is
production  answered. They will be produced in a least-

cost way.

A change in either technology or resource prices,
however, may cause a firm to shift from the technology it
is using. If the price of labor falls to $.50, technique 1
becomes more desirable than technique 2. Firms will find
they can lower their costs by shifting to a technology that
uses more of the resource whose price has fallen. Exer-
cise: Would a new technique involving 1 unit of labor, 4
of land, 1 of capital, and 1 of entrepreneurial ability be
preferable to the techniques listed in Table 2.1, assuming
the resource prices shown there? (Key Question 9)

Who Will Get the Output?

The market system enters the picture in two ways when
determining the distribution of total output. Generally, any
product will be distributed to consumers on the basis of
their ability and willingness to pay its existing market price.
If the price of some product, say, a small sailboat, is $3000,
then buyers who are willing and able to pay that price will
“sail, sail away.” Consumers who are unwilling or unable to
pay the price will be “sitting on the dock of the bay.”

% TABLE 2.1 Three Techniques for Producing $15 Worth of Bar Soap

2
|
Capital 3
: Entrepreneurial ability 3
B Total cost of $15 worth of bar soap

3 3 4 4

3 1 3 2 6
3 P 3 3
$15 $13 $i5
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The ability to pay the prices for sailboats and other
products depends on the amount of income that consum-
ers have, along with the prices of, and preferences for,
various goods. If consumers have sufficient income and
want to spend their money on a particular good, they can
have it. And the amount of income they have depends on
(1) the quantities of the property and human resources
they supply and (2) the prices those resources command in
the resource market. Resource prices (wages, interest,
rent, profit) are crucial in determining the size of each
person’s income and therefore each person’s ability to buy
part of the economy’s output. If a lawyer earning $200 an
hour and a recreational worker earning $10 an hour both
work the same number of hours each year, the lawyer will
be able to take possession of 20 times as much of society’s
output as the recreational worker that year.

How Will the System

Accommodate Change?

Market systems are dynamic: Consumer preferences, tech-
nology, and supplies of resources all change. This means
that the particular allocation of resources that is now the
most efficient for a specific pattern of consumer tastes,
range of technological alternatives, and amount of avail-
able resources will become obsolete and inefficient as con-
sumer preferences change, new techniques of production
are discovered, and resource supplies change over time.
Can the market economy adjust to such changes?

Suppose consumer tastes change. For instance, as-
sume that consumers decide they want more fruit juice
and less milk than the economy currently provides. Those
changes in consumer tastes will be communicated to pro-
ducers through an increase in spending on fruit and a de-
cline in spending on milk. Other things equal, prices and
profits in the fruit juice industry will rise and those in the
milk industry will fall. Self-interest will induce existing
competitors to expand output and entice new competitors
to enter the prosperous fruit industry’and will in time
force firms to scale down—or even exit—the depressed
milk industry.

The higher prices and greater economic profit in the
fruit-juice industry will not only induce that industry to
expand but will also give it the revenue needed to obtain
the resources essential to its growth. Higher prices and
profits will permit fruit producers to attract more re-
sources from less urgent alternative uses. The reverse oc-
curs in the milk industry, where fewer workers and other
resources are employed. These adjustments in the econ-
omy are appropriate responses to the changes in consumer
tastes. This is consumer sovereignty at work.

The market system is a gigantic communications
system. Through changes in prices and profits it commu-
nicates changes in such basic matters as consumer tastes
and elicits appropriate responses from businesses and
resource suppliers. By affecting price and profits, changes
in consumer tastes direct the expansion of some indus-
tries and the contraction of others. Those adjustments
are conveyed to the resource market. As expanding indus-
tries employ more resources and contracting industries
employ fewer; the resulting changes in resource prices
(wages and salaries, for example) and income flows guide
resources from the contracting industries to the expand-
ing industries.

This directing or guiding function of prices and prof-
its is a core element of the market system. Without such a
system, some administrative agency such as a government
planning board would have to direct businesses and re-
sources into the appropriate industries. A similar analysis
shows that the system can and does adjust to other funda-
mental changes—for example, to changes in technology
and in the prices of various resources.

How Will the System Promote

Progress?

Society desires economic growth (greater output) and
higher standards of living (greater income per person).
How does the market system promote technological im-
provements and capital accumulation, both of which con-
tribute to a higher standard of living for society?

Technological Advance The market system pro- &

ables better products and processes to supplant inferior §

ones. An entrepreneur or firm that introduces a popular’

new product will gain revenue and economic profit at the §

expense of rivals. Firms that are highly profitable one year’§
may find they are in financial trouble just a few yearsi:

later.

proved methods that reduce production or distribution

costs. By passing part of its cost reduction on to the con-
sumer through a lower product price, the firm can increase}
sales and obtain economic profit at the expense of rivall
firms. :

Moreover, the market system promotes the rapid spread
of technological advance throughout an industry. Rival
firms must follow the lead of the most innovative firm of

A




the market positions of firms that are wedded to existing
products and older ways of doing business. Example: The
advent of compact discs largely demolished long-play vinyl
records, and MP3 and other digital technologies are now
supplanting CDs.

Capital Accumulation Most technological ad-
vances require additional capital goods. The market sys-
tem provides the resources necessary to produce those
goods through increased dollar votes for capital goods.
That is, the market system acknowledges dollar voting for
capital goods as well as for consumer goods.

But who will register votes for capital goods? Answer:
Entrepreneurs and owners of businesses. As receivers of
profit income, they often use part of that income to pur-
chase capital goods. Doing so yields even greater profit
income in the future if the technological innovation is suc-
cessful. Also, by paying interest or selling ownership
shares, the entrepreneur and firm can attract some of the
income of households as saving to increase their dollar
votes for the production of more capital goods. (Key
Question 10)

¢ The output mix of the market system is determined by
profits, which in turn depend heavily on consumer
preferences. Economic profits cause industries to expand;
losses cause industries to contract.

* Competition forces industries to use the least costly
production methods.

¢ Competitive markets reallocate resources in response to
changes in consumer tastes, technological advances, and
changes in availability of resources.

¢ In a market economy, consumer income and product prices
determine how output will be distributed.

* Competitive markets create incentives for technological
advance and capital accumulation, both of which contribute
to increases in standards of living. )

The “Invisible Hand”’

In his 1776 book The Wealth of Nations, Adam Smith
first noted that the operation of a market system creates
a curious unity between private interests and social in-
terests. Firms and resource suppliers, seeking to further
their own self-interest and operating within the frame-
work of a highly competitive market system, will simul-
taneously, as though guided by an “invisible hand,”
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promote the public or social interest. For example, we
have seen that in a competitive environment, businesses
seek to build new and improved products to increase
profits. Those enhanced products increase society’s
well-being. Businesses also use the least costly combina-
tion of resources to produce a specific output because
doing so is in their self-interest. To act otherwise would
be to forgo profit or even to risk business failure. But, at
the same time, to use scarce resources in the least costly
way is clearly in the social interest as well. It “frees up”
resources to produce something else that society
desires.

Self-interest, awakened and guided by the competi-
tive market system, is what induces responses appropriate
to the changes in society’s wants. Businesses seeking to
make higher profits and to avoid losses, and resource sup-
pliers pursuing greater monetary rewards, negotiate
changes in the allocation of resources and end up with the
output that society wants. Competition controls or guides
self-interest such that self-interest automatically and
quite unintentionally furthers the best interest of society.
The invisible hand ensures that when firms maximize
their profits and resource suppliers maximize their in-
comes, these groups also help maximize society’s output
and income.

Of the various virtues of the market system, three
merit reemphasis:

* Efficiency The market system promotes the efficient
use of resources by guiding them into the production
of the goods and services most wanted by society. It
forces the use of the most efficient techniques in or-
ganizing resources for production, and it encourages
the development and adoption of new and more effi-
cient production techniques.

* Incentives The market system encourages skill ac-
quisition, hard work, and innovation. Greater work
skills and effort mean greater production and higher
incomes, which usually translate into a higher stan-
dard of living. Similarly, the assuming of risks by
entrepreneurs can result in substantial profit in-
comes. Successful innovations generate economic
rewards.

» Freedom The major noneconomic argument for the
market system is its emphasis on personal freedom.
In contrast to central planning, the market system
coordinates economic activity without coercion.

The market system permits—indeed, it thrives on—

freedom of enterprise and choice. Entrepreneurs and

workers are free to further their own self-interest,
subject to the rewards and penalties imposed by the
market system itself.
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The Demise of the Command
Systems

Our discussion of how a market system answers the five
fundamental questions provides insights on why command
systems of the Soviet Union, eastern Europe, and China
(prior to its market reforms) failed. Those systems en-
countered two insurmountable problems.

The Coordination Problem

The first difficulty was the coordination problem. The
central planners had to coordinate the millions of individ-
ual decisions by consumers, resource suppliers, and busi-
nesses. Consider the setting up of a factory to produce
tractors. The central planners had to establish a realistic
annual production target, for example, 1000 tractors. They
then had to make available all the necessary inputs—Ilabor,
machinery, electric power, steel, tires, glass, paint, trans-
portation—for the production and delivery of those 1000
tractors.

Because the outputs of many industries serve as inputs
to other industries, the failure of any single industry to
achieve its output target caused a chain reaction of reper-
cussions. For example, if iron mines, for want of machinery
or labor or transportation, did not supply the steel industry
with the required inputs of iron ore, the steel mills were
unable to fulfill the input needs of the many industries that
depended on steel. Those steel-using industries (such as
tractor, automobile, and transportation) were unable to ful-
fill their planned production goals. Eventually the chain
reaction spread to all firms that used steel as an input and
from there to other input buyers or final consumers.

The coordination problem became more difficult as
the economies expanded. Products and production pro-
cesses grew more sophisticated, and the number of indus-
tries requiring planning increased. Planning techniques
that worked for the simpler economy proved highly
inadequate and inefficient for the larger economy. Bottle-
necks and production stoppages became the norm, not the
exception. In trying to cope, planners further suppressed
product variety, focusing on one or two products in each
product category.

A lack of a reliable success indicator added to the co-
ordination problem in the Soviet Union and China (prior
to its market reforms). We have seen that market econo-
mies rely on profit as a success indicator. Profit depends
on consumer demand, production efficiency, and product
quality. In contrast, the major success indicator for the
command economies usually was a quantitative produc-
tion target that the central planners assigned. Production
costs, product quality, and product mix were secondary

considerations. Managers and workers often sacrificed
product quality and variety because they were being
awarded bonuses for meeting quantitative, not qualitative,
targets. If meeting production goals meant sloppy assem-
bly work and little product variety, so be it.

It was difficult at best for planners to assign quantita-
tive production targets without unintentionally producing
distortions in output. If the plan specified a production tar-
get for producing nails in terms of weight (tons of nails),
the enterprise made only large nails. But if it specified the
target as a quantity (thousands of nails), the firm made all
small nails, and lots of them! That is precisely what hap-
pened in the centrally planned economies.

The Incentive Problem

The command economies also faced an incentive prob-
lem. Central planners determined the output mix. When
they misjudged how many automobiles, shoes, shirts, and
chickens were wanted at the government-determined
prices, persistent shortages and surpluses of those prod-
ucts arose. But as long as the managers who oversaw the
production of those goods were rewarded for meeting
their assigned production goals, they had no incentive to
adjust production in response to the shortages and sur-
pluses. And there were no fluctuations in prices and prof-
itability to signal that more or less of certain products was
desired. Thus, many products were unavailable or in short
supply, while other products were overproduced and sat
for months or years in warehouses.

The command systems of the Soviet Union and China
before its market reforms also lacked entrepreneurship. Cen-
tral planning did not trigger the profit motive, nor did it re-
ward innovation and enterprise. The route for getting ahead
was through participation in the political hierarchy of the
Communist Party. Moving up the hierarchy meant better
housing, better access to health care, and the right to shop in’;
special stores. Meeting production targets and maneuvering’
through the minefields of party politics were measures of
success in “business.” But a definition of business success’
based solely on political savvy was not conducive to techno-
logical advance, which is often disruptive to existing prod-: {
ucts, production methods, and organizational structures. gf

The Circular Flow
Model

The dynamic market economy creates co:
tinuous, repetitive flows of goods and s
vices, resources, and money. The cir
flow diagram, shown in Figure 2.2

Circular flow
diagram
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RESOURCE
MARKET
» Househoids sel
« Businesses buy

BUSINESSES
« buy resources
« sell products

PRODUCT
MARKET
» Businesses sell
* Households buy

FIGURE 2.2 The circular flow praee

diagram. Resources flow from households to
businesses through the resource market, and
products flow from businesses to households
through the product market. Opposite these real
flows are monetary flows. Households receive
income from businesses (their costs) through the
resource market, and businesses receive revenue
from households (their expenditures) through the
product market.

HOUSEHOLDS
+ sell resources
* buy products

QUICK QUIZ 2.2

1. The resource market is the place where:
a. households sell products and businesses buy products.
b. businesses sell resources and households sell products.
c. households sell resources and businesses buy resources (or
the services of resources).
d. businesses sell resources and households buy resources (or
the services of resources).
2. Which of the following would be determined in the product
market?
a. a manager’s salary.
b. the price of equipment used in a bottling plant.
c. the price of 80 acres of farmland. )
d. the price of a new pair of athletic shoes.

Graph), illustrates those flows. Observe that in the
diagram we group private decision makers into businesses
and housebolds and group markets into the resource market
and the product market.

Resource Market

The upper half of the circular flow diagram represents
the resource market: the place where resources or the
services of resource suppliers are bought and sold. In the

3. In this circular flow diagram:

a. money flows counterclockwise.

b. resources flow counterclockwise.

c. goods and services flow clockwise.

d. households are on the selling side of the product market.
4. In this circular flow diagram:

a. households spend income in the product market.

b. firms sell resources to households.

c. households receive income through the product market.

d. households produce goods.

Bpiq g P T SIemsuy

resource market, households sell resources and businesses
buy them. Households (that is, people) own all economic
resources either directly as workers or entrepreneurs or
indirectly through their ownership of business corpora-
tions. They sell their resources to businesses, which buy
them because they are necessary for producing goods and
services. The funds that businesses pay for resources are
costs to businesses but are flows of wage, rent, interest,
and profit income to the households. Productive resources
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Economist Donald Boudreaux Marvels at the Way
the Market System Systematically and Purposefully
Arranges the World’s Tens of Billions of Individual
Resources.

In The Future and Its Enemies, Virginia Postrel notes the aston-
ishing fact that if you thoroughly shuffle an ordinary deck of 52
playing cards, chances are practically 100 percent that the re-
sulting arrangement of cards has never before existed. Never.
Every time you shuffle a deck, you produce an arrangement of
cards that exists for the first time in history.

The arithmetic works out that way. For a very small num-
ber of items, the number of
possible arrangements is small.
Three items, for example, can
be arranged only six different
ways. But the number of possi-
ble arrangements grows very
large very quickly. The number
of different ways to arrange five
items is 120 . . . for ten items
it’s 3,628,800 . . . for fifteen
items it’s 1,307,674,368,000.

The number of different
ways to arrange 52 items is
8.066 X 105 This is a big
number. No human can com-
prehend its enormousness. By
way of comparison, the number of possible ways to arrange a
mere 20 items is 2,432,902,008,176,640,000—a number larger
than the total number of seconds that have elapsed since the
beginning of time ten billion years ago—and this number is
Lilliputian compared to 8.066 X 10°".

What's the significance of these facts about numbers? Con-
sider the number of different resources available in the world—
my labor, your labor, your land, oil, tungsten, cedar, coffee
beans, chickens, rivers, the Empire State Building, [Microsoft]
Windows, the wharves at Houston, the classrooms at Oxford,
the airport at Miami, and on and on and on. No one can possi-
bly count all of the different productive resources available for
our use. But we can be sure that this number is at least in the
tens of billions.

Shuffling the Deck

When you reflect on how incomprehensibly large is the
number of ways to arrange a deck containing a mere 52 cards,
the mind boggles at the number of different ways to arrange all
the world’s resources.

If our world were random—if resources combined together
haphazardly, as if 2 giant took them all into his hands and tossed
them down like so many [cards]—it’s a virtual certainty that the
resulting combination of resources would be useless. Unless this
chance arrangement were quickly rearranged according to some
productive logic, nothing worthwhile would be produced. We
would all starve to death. Because only a tiny fraction of possi-
ble arrangements serves human ends, any arrangement will be
useless if it is chosen randomly or with inadequate knowledge of
how each and every resource
might be productively com-
bined with each other.

And yet, we witness all
around us an arrangement of
resources that’s productive and
serves human goals. Today’s ar-
rangement of resources might
not be perfect, but it is vastly
superior to most of the trillions
upon trillions of other possible
arrangements.

How have we managed to
get one of the minuscule num-
ber of arrangements that works?
The answer is private property—a social institution that encour-
ages mutual accommodation.

Private property eliminates the possibility that resource
arrangements will be random, for each resource owner chooses
a course of action only if it promises rewards to the owner that
exceed the rewards promised by all other available courses.

[The result] is a breathtakingly complex and productive
arrangement of countless resources. This arrangement emerged
over time (and is still emerging) as the result of billions upon
billions of individual, daily, small decisions made by people
seeking to better employ their resources and labor in ways that
other people find helpful.

Source: Abridged from Donald J. Boudreaux, “Mutual Accommodation,”
Ideas on Liberty, May 2000, pp. 4-5. Reprinted with permission.
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therefore flow from households to businesses, and money
flows from businesses to households.

Product Market

Next consider the lower part of the diagram, which repre-
sents the product market: the place where goods and
services produced by businesses are bought and sold.
In the product market, businesses combine resources to
produce and sell goods and services. Households use the
(limited) income they have received from the sale of re-
sources to buy goods and services. The monetary flow of
consumer spending on goods and services yields sales
revenues for businesses. Businesses compare those revenues

Summary

1. The market systemn and the command system are the two
broad types of economic systems used to address the econo-
mizing problem. In the market system (or capitalism), pri-
vate individuals own most resources, and markets coordinate
most economic activity. In the command system (or social-
ism or communism), government owns most resources, and
central planners coordinate most economic activity.

2. The market system is characterized by the private owner-
ship of resources, including capital, and the freedom of indi-
viduals to engage in economic activities of their choice to
advance their material well-being. Self-interest is the driv-
ing force of such an economy, and competition functions as
a regulatory or control mechanism.

3. In the market system, markets, prices, and profits organize
4 and make effective the many millions of individual economic
R decisions that occur daily.

4. Specialization, use of advanced technology, and the extensive
use of capital goods are common features of market systems.
Functioning as a medium of exchange, money eliminates the
problems of bartering and permits easy trade and greater
specialization, both domestically and internationally.

: 5. Every economy faces five fundamental questions: (a) What

i goods and services will be produced? (b) How will the goods

& and services be produced? (c) Who will get the goods and

B services? (d) How will the system accommodate change?

5 (¢) How will the system promote progress?

6. The market system produces products whose production

A and sale yield total revenue sufficient to cover total cost. It
does not produce products for which total revenue continu-
ously falls short of total cost. Competition forces firms to
use the lowest-cost production techniques.

7. Economic profit (total revenue minus total cost) indicates
that an industry is prosperous and promotes its expansion.

A Losses signify that an industry is not prosperous and hasten

& its contraction.
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to their costs in determining profitability and whether or
not a particular good or service should continue to be
produced.

The circular flow model depicts a complex, interre-
lated web of decision making and economic activity in-
volving businesses and households. For the economy, it
is the circle of life. Businesses and households are both
buyers and sellers. Businesses buy resources and sell
products. Households buy products and sell resources.
As shown in Figure 2.2, there is a counterclockwise 7ea/
flow of economic resources and finished goods and ser-
vices and a clockwise zoney flow of income and consump-
tion expenditures.

8. Consumer sovereignty means that both businesses and re-
source suppliers are subject to the wants of consumers.
Through their dollar votes, consumers decide on the com-
position of output.

9. The prices that a household receives for the resources it
supplies to the economy determine that household’s income.
This income determines the household’s claim on the econ-
omy’s output. Those who have income to spend get the
products produced in the market system.

10. By communicating changes in consumer tastes to entrepre-
neurs and resource suppliers, the market system prompts
appropriate adjustments in the allocation of the economy’s
resources. The market system also encourages technological
advance and capital accumulation, both of which raise a na-
tion’s standard of living. _

11. Compettion, the primary mechanism of control in the mar-
ket economy, promotes a unity of self-interest and social
interests. As directed by an invisible hand, competition har-
nesses the self-interest motives of businesses and resource
supplier to further the social interest.

12. The command systems of the Soviet Union and pre-
reform China met their demise because of coordination
difficulties under central planning and the lack of a profit
incentive. The coordination problem resulted in bottle-
necks, inefficiencies, and a focus on a limited number of
products. The incentive problem discouraged product
improvement, new product development, and entrepre-
neurship.

13. The circular flow model illustrates the flows of resources
and products from households to businesses and from busi-
nesses to households, along with the corresponding mone-
tary flows. Businesses are on the buying side of the resource
market and the selling side of the product market. House-
holds are on the selling side of the resource market and the
buying side of the product market.




